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TVC(cbch) (0,0,0

X /-unmue+u4/25
"nane PO 4138+ 0.0
pl -34.3+ 0.0

TP delay [ns]

TVC(cbch) (0,0,4

- g Jgae+04 | 25
e pO 4181+ 0.0
pl -34.44 % 0.00

TP delay [ns]

TVC(cbch) (O 0,8

~1nuiLbage+u4 | 25
— PD 4239+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (0,0,12

T rug.yole+ud / 25
4242+ 0.0
-36.11 + 0.00
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TP delay [ns]
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TVC(cbch) (0,0,1

AT 1 nuiLyzze+u4 | 25
[ po 4144+ 0.0
pl -34.44 + 0.00

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

T g 1bze+u4 [ 25
[Foees DU 4184+ 0.0
Pl 3475000

TP delay [ns]

TVC(c,b ch) (0 0,9

T 3.3e+04 /25
= pO 4240+ 0.0
pl -35.88 % 0.00

TP delay [ns]

TVC(C, bch) (0,0,13

T g yuLe+u4 / 25
- pO 4255 0.0
pl -35.4 + 0.0

TP delay [ns]
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3000

2000

4000

3000
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1000

TVC(cbch) (0,0,2)

K™ rze+U4 /25
[Fromes. PO 4146+ 0.0
L pl -34.33+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,0,6

FC = 20.98 [ps/ch] ™. 1

50 10‘0
TP delay [ns]

TVC(cbch) (0, 0 10

1000

© 1L yzye+u4 / 25
=, DO 4263+ 0.0
L pl -36.08 + 0.00

T g gble+ud [ 25
[Fomee pO 4177+ 0.0
[ PL_ -33.35:0.00

TP delay [ns]

TVC(cbch) (0,0,14

T 1nug, 15e+U4 / 25
- po 4240+ 0.0
I pl -35.08 + 0.00

TP delay [ns]
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TVC(cbch) (0,0,3

AT nuiLBzze+U4 [ 25
[ po 4144+ 0.0
pl -33.69 + 0.00

[ C =29.69 [ps/ch]

L
50 100

TP delay [ns]

TVC(c,b ch) (0 0,7

S nung4.13e+04 [ 25
o, pO 4203+ 0.0
-34.7+ 0.0

[ C =28.82 [ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (0, O

T 45::e+u4/25
- pO 4271£ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (0,0,15

T nu.z0ze+u4 25
4244+ 0.0
-34.4+ 0.0

[ C =29.07 [ps/ch] ]
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TP delay [ns]



TVC(cb Ch) ( OA]-/'\"OLL).509+04/25 TVC(ch Ch) (o, ':qu:!-;)mewuzs TVC(eb Ch) ( Ox]71w2u)we+u4/25 TvC(eb Ch) (o '1'”“:'31)459*“4’25
4000 fe” PO 4184+ 0.0 4000 fm po 4193+ 0.0 4000 e, po 4216+ 0.0 4000 e, po 4216+ 0.0
Pl -34.39 0.00 pl_ -35.21%0.00 b PL__ -3616%000 Pl -36.27:0.00

-1 3000

- 3000 1

3000 =1 3000

2000 4 2000 - 2000 B 2000

] 1000 . 1000 - 1000

1000

50 0% 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cb Ch) (o, ]./l"ﬁ 1)549+UA/25 TvC(eh Ch) (o, '1wu- 1)1BE+U4/25 TVC(chb Ch) (o, ']7-":-61 1)l<e+U4/25 TVeEeb Ch) (o 1’"“'1 i)b/E+U4/25
4000 fom PO 4209+ 0.0 4000 Fem, po 4216+ 0.0 4000 fme, po 4230+ 0.0 4000 s po 4233+ 0.0
346+ 0.0 Pl -34.66% 0.00 [ PL_ -35.39+ 0.00 -346% 0.0
3000 E 3000 - 3000 — — 3000 - -
2000 E 2000 E 2000 - - 2000 - g
1000 E 1000 = woor C = 28.26 [ps/ch ] woor C =28.90 [ps/ch] ]
1 1 - [ 1 1 - 3 1 1 -
EY 00 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(C b Ch) ( 0, —:L,..ﬁ ,)weﬂm/zs TVC(C b Ch) ( 0, ’1rHul4 25ue+u4/25 TVC(C b, Ch) ( 0, ]—', ||:!|-|4011)ae+04/25 TVC(C b Ch) ( 0, ;I_’ g, ys)be+u4/25
4000 pO 4211+ 0.0 4000 po 4227+ 0.0 4000 [, PO 4245+ 0.0 4000, PO 4244+ 00
Pl 3521+ 0.00 Pl -34.49: 0.00 L PL_ -3545% 0.00 Pl 3547000
3000 - 3000 . a000}- ] 3000 -
2000 - 2000 ] 2000 3 2000 -

1000 . 1000 - 1000

lo00F C = 28.99 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(Oll ) TVC(cbch)(OllB) TVC(cbch)(0114) TVC(cbch)(0115)
T 1nuiL, (poe+ud / 25 T os4e+u4 [ 25 Tnun L oze+u4 /25 T 53be+u4 [ 25
4000 fm, pO 4264+ 0.0 4000 [, pO 4271+ 0.0 4000 fm, PD 4255+ 0.0 4000 fe pO 4264+ 0.0
pl -37.22+ 0.00 pl -37.92+ 0.00 r pl -36.96 + 0.00 pl -37.06 + 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000

TVC(cbch) (0,2,0

A Huu:ueﬂm/zs
P, po 4202+ 0.0
pl -36.43+ 0.00

TP delay [ns]

TVC(cbch) (02,4

- i boye+ud / 25
- pO 4185+ 0.0
pl -35.82:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

©1nuz, 18pe+u4 / 25
= po 4227+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (0,212

T 1z 194e+04 / 25
= po 4245+ 0.0
pl -36.89 + 0.00

TP delay [ns]
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1000
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1000
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1000

TVC(cbch) (0,2,1

AT 1 nunLsube+ud [ 25
., po 4196+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

TVC(c,b ch) (0 2,5

=1 nui boye+ud [ 25
pO 4204+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

Tinunbore+ud [ 25
po 4259+ 0.0
pl -36.45 + 0.00

TP delay [ns]

TVC(C, bch) (0,213

T inuizu4ie+ud [ 25
pO 4230+ 0.0
p1 -36.9+ 0.0

TP delay [ns]
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TVC(cbch) (0,2,2)

K™ 1nuiLulae+u4 /25
™y po 4212+ 0.0
L pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

- bz8e+u4 [ 25
- pO 4202+ 0.0
3 pl -36.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

1000

T nug.usse+u4 / 25
- po 4261+ 0.0
- pl -36.29 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,214

~ i yzve+u4 [ 25
-, pD 4247+ 0.0
L pl -37.26+ 0.00

3000

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(cbch) (0,2,3

AT rnuiLoive+ud /25
- po 4221+ 0.0
p1 -36.7 + 0.0

TP delay [ns]

TVC(c,b ch) (0 2,7

=1 nui byve+u4 / 25
- pO 4229+ 0.0
pL -37.31% 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

ERALEVX mze+u4/25
- po 4259+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(C, bch) (0,215

-1 nui gbae+ud [ 25
= po 4245+ 0.0
p1 -37.08 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (0,3,0)

A7 1 nui4uoe+ud / 25
4201+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(cbch) (0,34

= o,

pee-. pO
pL

1z4e+U4 / 25
4189+ 0.0
-34.95+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 3,8

Tz zoze+04 | 25
= po 4222+ 0.0
pl -34.86 + 0.00

TP delay [ns]

TVC(cbch) (0,312

L pyze+u4 | 25
= po 4257+ 0.0
pl -36.86 + 0.00

TP delay [ns]
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2000

1000
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2000

1000

TVC(cbch) (0,3,1)

= po

AT 1L sose+ud [ 25
4200+ 0.0
-35.11 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (0 3,5

~nuiZ/ye+u4 [ 25
4193+ 0.0
-35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

T inue.z1/e+u4 [ 25
po 4237+ 0.0
pl -35.34 + 0.00

TP delay [ns]

TVC(C, bch) (0,3,13

Tinuiag/e+ud [ 25
pO 4248+ 0.0
pl -35.29+ 0.00

il
100

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (0,3,2)

po

K™ 1 nuioole+ud /25
4213+ 0.0
-36.27 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,36

- rnuiL411e+u4 / 25
4212+ 0.0
-36.88 + 0.00

- PO

[ o

FC =27.12 [ps/ch .
5(') 100 -

TP delay [ns]

TVC(cbch) (0, 3 10

©1nuzbe3e+u4 [ 25
- po 4247+ 0.0
L pl -35.17 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,3 14

T rnuiLgsze+u4 [ 25
pD 4269+ 0.0
pl -36.42+ 0.00

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3)

e po

pl

AT rmuL4ire+ud [ 25
4225+ 0.0
-36.05+ 0.00

TVC(c,b ch) (0 3,7

pe=e. pO
pl

1
100

TP delay [ns]

-1 nui 4z4e+04 [ 25
4225+ 0.0
-35.62 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 3

T, /Hze+u4/25
- po 4256+ 0.0
pl -35.88+ 0.00

TP delay [ns]

TVC(C, bch) (0,3,15

Tinuiag1e+u4 /25
- pO 4265+ 0.0
-35.41+ 0.00

1
100

TP delay [ns]
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1000

4000

3000
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1000

TVC(cbch) (0,4,0)

X~ 1w 48ve+U4 [ 25

pl -37.14+ 0.00

4204+ 0.0

TP delay [ns]

TVC(cbch) (04,4

- i 483e+04 / 25
. pO 4200+ 0.0
pl -36.52+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

©1nuizuoze+u4 | 25
- pO 4221+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (0,4,12

T L szse+u4 / 25
= po 4228+ 0.0
pl -36.57 + 0.00

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (0,4,1

A1 L4 ae+Ud ] 25
. po 4184+ 0.0
pL -35.59+ 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

-1 nuiLe31e+ud / 25
== po 4202+ 0.0
pl -36.94 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,9

-1 nuis.ovae+u4 [ 25
- po 4236+ 0.0
pl -35.12 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,13

T inuiog/e+ud [ 25
4236+ 0.0
-36.51+ 0.00

TP delay [ns]
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1000

TVC(cbch) (0,4,2)

K™ 1 nuiozoe+V4 /25

F o po 4220+ 0.0
L pl -38.19+ 0.00

TP delay [ns]

TVC(cbch) (04,6

=i, 7gye+ud / 25
3 pO 4223+ 0.0
[ pl -38.05+ 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

T 2.30e+04 /25
. po 4257+ 0.0
- pl -35.69+ 0.00

TP delay [ns]

TVC(cbch) (0,4,14

~ 1L yzoe+u4 / 25
4227+ 0.0
-36.81+ 0.00
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TP delay [ns]
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TVC(cbch) (0,4,3)

A7 1 nuiLby4e+U4 [ 25
- po 4228+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

-1 nui g1ye+u4 / 25
- pO 4218+ 0.0
pl -37.28 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

T b/de+U4/25
- po 4265+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

-1 nui yyse+ud [ 25
= po 4236+ 0.0
p1 -37.58 + 0.00

TP delay [ns]
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TVC(cbch) (0,5,0)

T paze+ud /25
4176+ 0.0
-36.76 + 0.00

TP delay [ns]

TVC(cbch) (05,4

T L Ub/e+ud / 25
4191+ 0.0
-35.31+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 58

T i gzze+04 | 25
= pO 4181+ 0.0
pl -34.55+ 0.00

TP delay [ns]

TVC(cbch) (0,5,12

T rnuiLg3se+ud / 25
- po 4194+ 0.0
pl -34.83+ 0.00

TP delay [ns]
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TVC(cbch) (0,51)
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AT 1 nuLyoze+ud [ 25
4175+ 0.0
-37.67 + 0.00
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TP delay [ns]

TVC(c,b ch) (0 55

pO

pl

- nu 1z8e+04 / 25
4180+ 0.0
-36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (0 59

T nu. 740e+04 | 25
po 4200+ 0.0
pl -35.49 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,13

-/ 1 4be+ud | 25
po 4201 0.0
pl -34.7 + 0.0

TP delay [ns]
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T Laoe+ud /25
4182+ 0.0
-36.84 + 0.00
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TP delay [ns]

TVC(cbch) (0,56
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p1

- rnuiLz14e+04 / 25
4191+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

1000

T zzze+04 | 25
= po 4223+ 0.0
- pl -35.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,5,14

~1nuiL4zoe+04 / 25
-, pD 4205+ 0.0
L p1 -35.67 + 0.00
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TP delay [ns]
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TVC(cbch) (0,5,3)

L1r4e+U4 /25
4182+ 0.0
-36.24 + 0.00
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e po
pL

TP delay [ns]

TVC(c,b ch) (0 57

-1 nun 383e+04 / 25
4202+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0, 5

T, /4=e+u4/25
= po 4218+ 0.0
p1 -34.79 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,15

T inaiaiye+ud [ 25
= pO 4203+ 0.0
p1 -35.2+ 0.0

TP delay [ns]
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0
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1000

TVC(cbch) (0,6,0

A7 1 nui syoe+u4 / 25
., po 4205+ 0.0
pl -36.58 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (06,4

T rnuiLasie+ud / 25
pO 4194+ 0.0
p1 -36.47+ 0.00

TP delay [ns]

TVC(cbch) (O 6,8

1 nuz.gy4e+u4 | 25
po 4212+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T i, rove+u4 / 25
4223+ 0.0
-35.01+ 0.00
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TP delay [ns]
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TVC(cbch) (0,6,1

x- 1L 2sae+Ud | 25
Fee,, po 4196 + 0.0
pL -36.01% 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

=1 nui4ule+u4 / 25
e, pO 4178+ 0.0
pL -35.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

T nuy.asze+ud [ 25
= po 4227+ 0.0
pl -36.41+ 0.00

TP delay [ns]

TVC(C, bch) (0,6,13

T nuiLo3oe+ud / 25
= pO 4215+ 0.0
p1 -35.2+ 0.0

TP delay [ns]
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TVC(cbch) (0,6,2)

A~ 1nuizroe+04 /25
o=, po 4201+ 0.0
L pl -35.73+ 0.00
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TP delay [ns]

TVC(cbch) (06,6

T 1 nuiL4bze+04 / 25
- pO 4197 00
F Pl 3595+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 6 10

1000

0

T 1nug.344e+04 | 25
. po 4252+ 0.0
L p1 -37.24+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

1 nuiLquve+ud / 25
- pD 4220+ 0.0
[ p1 -35.88 + 0.00
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TP delay [ns]
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1000
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1000

TVC(cbch) (0,6,3)

T 1sye+ud [ 25
- pO 4219+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

-1 nui b34e+04 / 25
- pO 4194+ 0.0
p1 -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

T u::e+u4/25
= po 4265+ 0.0
pl -37.58 + 0.00

TP delay [ns]

TVC(C, bch) (0,6,15

T inuiap/e+ud /25
= pO 4221+ 0.0
p1 -35.64 + 0.00

TP delay [ns]
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1000

0
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1000

TVC(cbch) (0,7,0

AT nui3r0e+04 /25
e po 4201+ 0.0
pl -37.51+ 0.00

TP delay [ns]

TVC(cbch) (07,4

- i Bo4e+ud / 25
4220+ 0.0
-35.5+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

T a0y e+u4 [ 25
- pO 4234+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (0,7,12

T, 45e+04 / 25
= po 4220+ 0.0
pl -34.62 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (0,7,1

AT 1 nuiLsvse+ud [ 25
- po 4211+ 0.0
pl -37.81+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

-1 nu 1uze+u4 / 25
- pO 4224+ 0.0
pL -36.19+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

~ 1 nui ogYe+ud 25
4242+ 0.0
-36.8 + 0.0

TP delay [ns]

TVC(C, bch) (0,7,13

Tinai g roe+ud [ 25
- pO 4237+ 0.0
pl -36.64 + 0.00

TP delay [ns]
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1000

TVC(cbch) (0,7,2)

- C = 26.25 [ps/c

A~ 1nuiLdo/e+04 /25
po 4234+ 0.0
pl -38.1+ 0.0

TP delay [ns]

TVC(cbch) (07,6

- rnuz love+ud / 25
- pO 4224+ 0.0
[ pl -35.43+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

1000

© 1 nug bove+u4 | 25
= po 4257+ 0.0
- pl -36.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

T ru1e+u4 / 25
- pD 4238+ 0.0
L pl -35.88+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT 1 nuiLoble+ud [ 25
- po 4231+ 0.0
pl -37.14+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

-1 nu Zgbe+u4d / 25
- pO 4219+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7

T, saue+u4/25
= po 4260+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(C, bch) (07,15

Tonane 1 B1e+ud [ 25
= pO 4250+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0)

T 14se+u4 /25
., pO 4215+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (08,4

© 1 nuiL435e+04 / 25
pO 42174 0.0
pl -35.00+ 0.00

0

TP delay [ns]
TVC(cbch) (O 8,8)
T g 11/e+ud [ 25
- PD 4238+ 0.0
pl —36.55&:‘
TP delay [ns]
TVC(c,b ch) (0o, 8 12

Tz 1rze+04 /25
pO 4255+ 0.0
pl -37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,81

AT 1nuiL3r/e+u4 [ 25
P, po 4199+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

- nun bz /e+u4 [ 25
- pO 4211+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,9

T nu1z2ze+04 / 25
= po 4253+ 0.0
pl -36.02 + 0.00

TP delay [ns]

TVC(C, bch) (0,8,13

T nuiyzye+ud / 25
= pO 4265+ 0.0
pl -37.18 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

AT 1nun s4se+04 /25
__- po 4212+ 0.0
o pl -35.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

-1 nuiLg14e+04 / 25
- pO 4234+ 0.0
[ pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

T 1nuig, re4e+04 / 25
__ DO 4281+ 0.0
- pl -37.13+ 0.00

TP delay [ns]

TVC(cbch) (0,814

1000

T Ly roe+u4 [ 25
- pD 4264+ 0.0
L pl -37.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

AT rnuiL4sie+ud [ 25
- po 4231+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

- 1nuiyl/e+u4 / 25
- pO 4239+ 0.0
p1 -35.64 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

T, /54e+u4/25
= pO 4274+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(C, bch) (0,815

T nui gbze+ud [ 25
- pO 4255+ 0.0
p1 -36.59 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

T L zse+ud /25
., pO 4183+ 0.0
pl -35.68+ 0.00

TP delay [ns]

TVC(cbch) (0,9,4

- i 549e+04 / 25
pO 4181% 0.0
pl -35.53+ 0.00

TP delay [ns]

TVC(cbch) (O 9,8

©1nuiLysve+u4 | 25
po 4216+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

T pyle+ud /25
pO 4220+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

X1 wiLdyLe+ud | 25
., po 4179+ 0.0
pL -35.03+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,5

S nuiLbye+u4 [ 25
pO 4199+ 0.0
p1 -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 9,9

T nug.y4ne+ud [ 25
po 4211+ 0.0
pl -35.35+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,13

S rna 1lre+ud /25
po 4197+ 0.0
pl -34.54 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,9,2)

K™ 1 nuiosye+ud /25
- po 4199+ 0.0
[ p1 -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,9,6

-1 nuib4ze+04 [ 25
- pO 4199+ 0.0
3 pl -35.79 0.00

3000

TP delay [ns]

TVC(cbch) (0, 9 10

T rnuzbu/e+u4 [ 25
= po 4248+ 0.0
- pl -36.02 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,9,14

- C = 29.21 [ps/ch]

T Lole+ud /25
- pD 4208+ 0.0
L pl -34.23+ 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

AT 1L ouse+ud [ 25
po 4200+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

-1 nui g1ye+u4 / 25
pO 4215+ 0.0
pL -36.76+ 0.00

TVC(c,b ch) (0, 9

50 1(;0
TP delay [ns]

T az4e+u4/25
po 4246+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T nui o3ve+ud [ 25
4224+ 0.0
-35.01+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

[ C =29.20 [ps/ch]

T si4e+U4 /25
™ pO 4208+ 0.0
-34.25+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,104

T i r53e+u4 / 25
e, pO 4225+ 0.0
pl -36.66 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 10 8

T 19ye+ud /25
= po 4215+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (0.10,12)

T rnuzsure+u4 | 25
= po 4260+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

™ po
p1

AT 1nuiLzs/e+u4 [ 25

i

4205+ 0.0
-34.4 + 0.0

[ C =29.07 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c, bch) (0,10,5

S rnuzurze+ud [ 25
- pO 4233+ 0.0
pL -37.38 0.00

TP delay [ns]

TVC(c, bch) (0, 10 9

Tonan g ze+u4 1 25
= po 4232+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (010,13

~ 1 nuiz.ysye+ud / 25
- pO 4253+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000
3000

2000

TVC(CbCh) (0,10,2)

TP delay [ns]

TVC(cbch) (0.10,6

1000

- nunLgzye+u4 [ 25
- pO 4235+ 0.0
[ pl -36.83+ 0.00

A7 1nun zsae+04 /25
. po 4213+ 0.0
L pl -34.76 + 0.00

3000

TP delay [ns]

TVC(e,b,ch)=(0, 10, 10)

1000

0

-1 nu g40e+04 / 25
- DO 4253+ 0.0
L pl -36.73+ 0.00

TP delay [ns]

TVC(cbch) (0.10,14)

1000

~1nuiLgy4e+u4 [ 25
4261+ 0.0
-37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

AT rnuiLazre+ud [ 25
o po 4229+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(c, bch) (0,10,7

- nun1.99e+04 [ 25
- pO 4258+ 0.0
pL -37.29+ 0.00

50 100
TP delay [ns]

TVC(cbch) (o, 10 1

T inuzzsie+ud [ 25
= pO 4249+ 0.0
pl -35.23+ 0.00

TP delay [ns]

TVC(cbch) (0,10,15

T nui syve+ud [ 25
- pO 4256+ 0.0
p1 -37.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

X~ 1w 44ze+04 [ 25

_—- po 4157 + 0.0
p1 -34.72:+ 0.00

TP delay [ns]

TVC(cbch) (0,11,4

T is1e+u4 / 25
e pO 4164+ 0.0
p1 -34.14+ 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

T L ro/e+U4 [ 25
= po 4186+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 12

X~ 11 pude+ud [ 25
- po 4212+ 0.0
pl -35.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0, 11 1)

T 1ole+ud /25
- pO 4160+ 0.0
pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (0,11,5

- nui 331e+04 / 25
e, pO 4190+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(eh.eh)=(0, 11, 9

<1 nu.18be+u4 / 25
= po 4209+ 0.0
p1 -34.77+ 0.00

TP delay [ns]

TVC(cbch) (0,11,13

Tinuiol/e+ud [ 25
== pO 4205+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (o, 11 2)

1 nui vzye+ud [ 25

= pO 4174+ 0.0
L p1 -35.17 £ 0.00

TP delay [ns]

TVC(cbch) (0,11,6

- rnub1ze+u4 [ 25
- pO 4211% 0.0
[ pl -36.04+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 10

— X 1nuizoyre+ud [ 25
= po 4197+ 0.0
L p1 34,37+ 0.00

TP delay [ns]

TVC(cbch) (0,11, 14

X1 ozie+ud [ 25
= po 4217+ 0.0
L p1 -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT 1L buze+ud [ 25
peee po 4184+ 0.0
pl -35.11 + 0.00

TP delay [ns]

TVC(cbch) (0,11,7

- nun 33ze+04 / 25
- pO 4196+ 0.0
p1 -34.27+ 0.00

TP delay [ns]

TVC(e.b.eh=(0, 11, 11

- Tonai/rze+u4 25
= pO 4214+ 0.0
pl -35.31+ 0.00

TP delay [ns]

TVC(c, bch) (0,11,15

Tinais/e+ud [ 25
= pO 4211+ 0.0
-34.9+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

©rnuzuse+u4 [ 25
.. pO 4208+ 0.0
pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (0,124

-1 nuiL401e+04 / 25
pO 4216+ 0.0
pl -37.87+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

1 nuiLyyse+u4 / 25
= po 4203+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (0,12,12

T L pyse+u4 / 25
= po 4219+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(chh) (0,12,1)

3000

2000

1000

A1 i ayse+ud [ 25
4000 [ po 4216+ 0.0
pl -37.77:+ 0.00

TP delay [ns]

TVC(cbch) (0,125

4000 S

3000

2000

1000 [~

- 11 430e+04 / 25
pO 4208+ 0.0
pL -37.31% 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

4000 [

3000

2000

1000

T inue./1/e+u4 /25
po 4223+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (012,13

4000 [

3000

2000

1000

Tonan L s3e+ud [ 25
pO 4221% 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

2000

1000

TVC(CbCh) (0,12,2)

AT 1nun ssse+u4 /25
_- po 4213+ 0.0
o pl -36.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

Srnun131e+04 /25
e pO 4212+ 0.0
[ pl -37.02 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

T zple+ud /25
. po 4237+ 0.0
L -36.5+ 0.0

TP delay [ns]

TVC(cbch) (0.12,14

T rnuiLgnle+ud [ 25
- pD 4228+ 0.0
[ p1 -35.85+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

AT 1L suse+u4 [ 25

po 4237+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

=1 Ui bbbe+u4 / 25
4240+ 0.0
-37.3+ 0.0

1
50 100

TP delay [ns]

TVC(eh,eh)=(0, 12, 11

T nuizzoe+u4 [ 25
- pO 4249+ 0.0
p1 -36.74+ 0.00

TP delay [ns]

TVC(cbch) (0,12,15

-1 nui oobe+ud / 25
- po 4228+ 0.0
p1 -36.34+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 13 0)

© g, 1use+u4 [ 25
4215+ 0.0
p1 -36.05+ 0.00

TP delay

TVC(Cbch) (o, 13 4

[ns]

-1z 130e+04 / 25
4234+ 0.0
-37.11+ 0.00

= pO

pl
- C A

+ =
TP delay [ns]
TVC(c,b, ch) (0, 13 8)

T g olye+ud / 25
e pO 4261*:‘

pL -34.54 + 0.00
[ C=28.95[ps/ich] ™, 1

0

4000

3000

2000

1000

50

1
100

TP delay [ns]

TVC(Cbch) (o, 13 12

I C =28.93 [ps/ch]

- rnu, (ure+u4 [ 25
po 4250+ 0.0
p1 -34.57+ 0.00

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0, 13 1)

e pO

C iz 14/e+u4 [ 25
4213+ 0.0
-37+ 0.0

p1

TP delay

TVC(c,b Ch) (0, 13 5

F- pO

[ns]

-1 Ui bbye+ud / 25
4238+ 0.0
pl -37.16+ 0.00

TP delay

TVC(c,b ch) (0, 13

[, po

pl

[ns]

T nuy.13ze+u4 /25
4284+ 0.0
-34.57 + 0.00

[ C =28.93 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (0, 13 13

T inunzpoe+ud [ 25
pO 4251% 0.0
p1 -35.9+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (0,13,2)

- po

K™ 1nugizze+04 /25
4219+ 0.0
p1 -35.64 + 0.00

TP delay

TVC(Cbch) (o, 13 6

[ns]

- rnu312e+04 [ 25
4259+ 0.0
pl -37.33+ 0.00

- o
F C = 26.79 [ps/ch .
= 100 -
TP delay [ns]

TVC(eb,ch)=(0, 13, 10

pO
pl

-1 nug ygze+u4 [ 25
4303+ 0.0
-34.84 + 0.00

- C = 28.70 [ps/ch]

50

1
100

TP delay [ns]

TVC(CbCh) (o, 13 14

-1 nu, (U3e+u4 [ 25
pD 4250+ 0.0
pl -35.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

e po

A1 nuizs4re+04 [ 25
4238+ 0.0
pL -37.31+ 0.00

TP delay

TVC(c,b Ch) (0, 13 7

o= pO

[ns]

“nun 2.30e+04 [ 25
4250+ 0.0
pl -36.65+ 0.00

50 160
TP delay

TVC(cbch) (o, 13 11

- pO

[ns]

T nug.zy3e+u4 [ 25
4302+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (0, 13 15

-1z yuse+ud [ 25
pO 4268+ 0.0
p1 -36.7 £ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,14,0)

~nuiLzyoe+ud [ 25
™, PO 4181+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (0,144

T bz e+u4 [ 25
- pO 4202+ 0.0
pl -34.78 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 8

T nuig bose+u4 / 25
4201+ 0.0
-35.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,14, 12

T, r4ze+04 [ 25
- PO 4222+ 0.0
pl -36.1+ 0.0

TP delay [ns]

TVC(cbch) (0,14,1)

3000

2000

1000

A7 1 nuiL sove+u4 / 25
4000 [, po 4194+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c, bch) (0,14,5

4000

3000 -

2000 -

1000 [~

S nun15z2e+04 /25
DU 4206+ 0.0
pL -35.02.+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0,14,9

4000

3000

2000

1000

<1 nu, 7Ube+u4 [ 25
- DO 4218+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (0.14,13

4000 e

3000

2000

1000

T r3ye+u4 [ 25
PO 4225+ 0.0
pl -36.5 + 0.0

TP delay [ns]

4000

2000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,14,2)

1000

X~ 1w sooe+U4 [ 25
- PO 4200+ 0.0
r pl -35.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (0.14,6

-1 nuiL453e+04 / 25
- pO 4205+ 0.0
I pl -34.15:+ 0.00

- C = 29.29 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (0, 14 10

1 nuiz.48pe+04 | 25
- DO 4231+ 0.0
r -36.1+ 0.0

TP delay [ns]

TVC(cbch) (0.14,14

- i s7e+04 ] 25
= PD 4239+ 0.0
r pl -37.27+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,14,3)

AT 1nuiLgr/e+u4 [ 25
- PO 4197+ 0.0
p1 -35.34 + 0.00

TP delay [ns]

TVC(c, bch) (0,14,7

-1 nui byae+u4 [ 25
- PO 4206+ 0.0
pL -34.69 + 0.00

TP delay [ns]

TVC(cbch) (0,14, 11

~ 1 nui yzze+u4 [ 25
- pO 4230+ 0.0
-36.2+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (0,14,15

Ty /3e+u4 /25
- PO 4244 + 0.0
pl -37.46 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,15,0)

[ C =29.64 [ps/ch]

~ 1 nuiL,s40e+U4 / 25
[, PO 4194+ 0.0
pl -33.73+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,154

- 1L byye+u4 / 25
- pO 4209+ 0.0
pl -36.14 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (0, 15 8

S rnan zuze+ud /25
- pD 4218+ 0.0
pl -35.42 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T inuiLyyle+ud / 25
- PO 4229+ 0.0
-35.01 0.00

PR B SRS |
50 100

TP delay [ns]

TVC(cbch) (0,15,1)

AT 1 nuiLusse+u4 / 25
4000 fRee,, po 4192+ 0.0
pL -33.2+ 0.0

3000 -
2000 - -
w00 C = 30.12 [ps/ch] - ]

TP delay [ns]

TVC(cbch) (0,155

4000 o

3000

2000

1000 [~

S nun 1 /be+ud [ 25
DU 42111 0.0
pL -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

3000

2000

1000

T rnug.y/1e+u4 [ 25
4000 frn pO 4256+ 0.0
Pl -35.52%0.00

TP delay [ns]

TVC(cbch) (0.15,13

4000 e

3000 -

2000

1000 |~

T sz1e+u4 [ 25
PO 4220% 0.0
-34.85 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,15,2)

TP delay [ns]

TVC(cbch) (0.15,6

=i, (93e+04/ 25
- pO 4217+ 0.0
I pl -36.56 + 0.00

X~ 1w 1 4e+04 /25
- po 4215+ 0.0
F pl -35.43+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 15 10

Trnu 35e+u4 /25
- DO 4276+ 0.0
F pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (0,15, 14

TinuiLpize+ud [ 25
- PD 4217+ 0.0
F pl -34.53+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,15,3)

AT 1 nuiLusse+U4 / 25
PO 4210 0.0
p1 -34.99 + 0.00

TP delay [ns]

TVC(c, bch) (0,157

-1 nui Byse+u4 / 25
= PO 4232+ 0.0
pL -36.71+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C =28.94 [ps/ch]

T nuiz 1gze+u4 [ 25
pO 4252+ 0.0
pl -34.56 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,15,15

i Loze+ud [ 25
- PO 4226+ 0.0
pl -35.06 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

K™ nuiazoe+04 /25
P, po 4181+ 0.0
pl -36.35+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (10,4

- 1L 539e+u4 / 25
4163+ 0.0
-36.1+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T il bo1e+u4 /25
= po 4187+ 0.0
p1 -34.48 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T rnuiLoE1e+U4 / 25
= po 4200+ 0.0
pl -35.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,01

AT 1 nunLsooe+ud [ 25
' po 4184+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(c,b ch) (1, O

-1 nui byle+u4d / 25
pO 4173+ 0.0
pL -35.57+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

T nuigsz3e+u4 [ 25
po 4208+ 0.0
p1 -34.67 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,13

Tinai43e+u4 /25
pO 4199+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

A7 1 nui s40e+04 / 25
P po 4178+ 0.0
- pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- i blge+ud / 25
= pO 4183+ 0.0
3 pl -35.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 0 10

T nuiLysze+u4 | 25
= po 4227+ 0.0
- pl -34.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

T ryre+u4 [ 25
= pD 4213+ 0.0
L p1 -37.39+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT 1 nuiL,syae+u4 [ 25
- po 4201+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

-1 nui bsae+u4 / 25
e, pO 4193 0.0
p1 -36.42:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T b‘Jbe+U4/25
= po 4235+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

T nui szse+ud [ 25
= pO 4206+ 0.0
p1 -36.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0

A7 1 nui4oye+U4 /25
P po 4174+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (11,4

- L 538e+04 / 25
= pO 4174+ 0.0
p1 -35.74 + 0.00

TP delay [ns]

TVC(ebioh)=(1, 1,8

1z 2u4e+04 [ 25
= po 4193+ 0.0
p1 -34.7+ 0.0

TP delay [ns]

TVC(cbch) (1,1,12

T L gsze+u4 | 25
- po 4210+ 0.0
pl -36.44 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1)

o Laverud | 25
.. pO 4194+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 1

-1 nui byse+ud / 25
pO 4192+ 0.0
pL -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

[ C =29.08 [ps/ch] ]

T nuw, rz3e+u4 / 25
4218+ 0.0
-34.39 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T inai49e+ud [ 25
pO 4202+ 0.0
pl -36.86 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (1,1,2)

A7 1 nui ouse+u4 / 25
- po 4194+ 0.0
o pl -35.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

-1 nurL504e+04 [ 25
- pO 4201 0.0
[ pl -36.07 + 0.00

3000

TP delay [ns]

TVCebeh)=(1, 1, 10

- C = 28.99 [ps/ch]

T nuig341e+04 / 25
= po 4226+ 0.0
- pl -34.5+ 0.0

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,114

1 nuiLpyse+u4 / 25
4212+ 0.0
-36.9 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT 1L seoe+ud [ 25
P, po 4201+ 0.0
pl -35.04+ 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

=1 i bBbe+u4 / 25
- pO 4201% 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
~ 1 nuiz 1gae+u4 / 25
- po 4229+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

T nui ozse+ud [ 25
= pO 4203+ 0.0
p1 -35.33+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

K™ 1nui zzse+04 | 25
P, po 4194+ 0.0
p1 -36.75+ 0.00

TP delay [ns]

TVC(cbch) (1,24

= rnuiLlrye+ud [ 25
.. po 4212+ 0.0
pl -35.94 + 0.00

50 5
TP delay [ns]

TVC(ebch)=(1,2,8

- huizdage+ud [ 25
- po 4196+ 0.0
p1 -35.02:+ 0.00

TP delay [ns]

TVC(cbch) (1,212

T rnuiLgase+u4 / 25
= po 4239+ 0.0
pl -36.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AL 3a1e+U4 ] 25
' po 4194+ 0.0
pL -35.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

“ o 1.z25e+04 [ 25
pO 4230+ 0.0
p1 -35.86+ 0.00

TP delay [ns]

TVCebeh)=(1,2,9

T inun4.uye+u4 [ 25
pO 4218+ 0.0
p1 -35.17 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 2 13

T inai roae+ud /25
pO 4237+ 0.0
p1 -37.3+ 0.0

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (1,2,2)

X~ 1L zsze+04 [ 25
- po 4208+ 0.0
[ p1 -35.77+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

- nung zsze+u4 [ 25
- pO 4239+ 0.0
[ p1 -36.03+ 0.00

TP delay [ns]

TVC(c,b, ch) (1, 2 10

1000

-1 ud1e+u4 [ 25
P po 4227+ 0.0
[ p1 -35.23+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 2 14

1000

Srnun z11e+04 /25
-, pD 4238+ 0.0
[ pl -36.27+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

A7 1 nuiL, 1obe+u4 / 25
=3 po 4202+ 0.0
pl -34.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

© 1 nui 345e+04 / 25
- pO 4235 0.0
p1 -35.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (1,2,

T 915e+u4/25
e pO 4249+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2 15

T inuiz143e+04 /25
= pO 4233+ 0.0
p1 -36.26 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0

A7 1 nui suse+u4 / 25
.. po 4205+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(cbch) (1,34

- 1L 509e+04 / 25
™, pO 4199+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (1 3,8

T LYz e+u4 [ 25
- po 4229+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(cbch) (1,312

TrnuiLgrze+04 /25
- po 4192+ 0.0
pl -33.46 + 0.00

[ C =29.89 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,31

A1 L 3aae+U4 | 25
Fee.. po 4205 0.0
pL -35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

-1 nui b4 se+u4 [ 25
F 4230+ 0.0
-38.5+ 0.0

TP delay [ns]

TVC(c,b ch) (1 3,9

T inugb1ze+ud [ 25
- pO 4247+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(C, bch) (1,3,13

<1 nuiL byoe+ud / 25
feee. 4194+ 0.0
-33.57+ 0.00

[ C =29.78 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

TP delay [ns]

TVC(cbch) (1,36

K™ 1nuiolse+ud /25
_- po 4209+ 0.0
o pl -36.18+ 0.00

3000

- 1 nuiLbave+ud / 25
3 pO 4230+ 0.0
[ pl -38.35+ 0.00

TP delay [ns]

TVC(cbch) (1, 3 10

1000

© 1 nuiLgloe+u4 / 25
. po 4269+ 0.0
- pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (1,3 14

Srua T 186125
-, pD 4189+ 0.0
L p1 -33.49 £ 0.00

- C = 29.86 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3

AT 1L oose+ud [ 25
- po 4223+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

-1 nui byze+u4 [ 25
- pO 4235 0.0
pL -37.95+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T bb4e+U4/25
- po 4252+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(C, bch) (1,315

1 nuiayve+ud [ 25
= pO 4198+ 0.0
-34.14+ 0.00

[ C =29.29 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0)

4219+ 0.0

T Looe+ud /25
-38.41+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

- 1L 488e+u4 / 25

== po 4201+ 0.0
pl -35.07 + 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 4,8

1 nuiz.400e+04 / 25
- pO 4242+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (1,4,12

T i, rove+u4 / 25
= po 4206+ 0.0
pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

A1 L Bave+U4 | 25
F po 4224+ 0.0
pL -38.96+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

- 1 nuiLbble+ud / 25
== po 4216+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

T nug. yise+ud / 25
- po 4268+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,13

S rna 1lre+ud /25
= po 4216+ 0.0
pl -35.97 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,4,2)

T Love+ud /25
F pO 4226+ 0.0
o pl -38.11+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,4,6

-1 nurLByze+ud [ 25
- pO 4220+ 0.0
[ pl -36.57 + 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

Tz pzze+04 | 25
- DO 4289+ 0.0
L pl -37.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,4,14

T rnuiLbo1e+U4 /25
- pD 4218+ 0.0
L p1 -35.87 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

AT 1L bsse+ud /25
- po 4228+ 0.0
pl -37.77+ 0.00

TP delay [ns]

TVC(cbch) (14,7

-1 nuiL 7a4e+04 | 25
= po 4227+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

1)
T nuiz.uz/e+u4 [ 25
- po 4276+ 0.0
p1 -36.45 + 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

Tonairz/e+u4 /25
= pO 4211+ 0.0
p1 -36.27 + 0.00

TP delay [ns]



TVC(cbch)(lSO) TVC(cbch)(lSl) TVC(cbch)(152) TVC(cbch)(153)
A” 1L brse+ud [ 25 A~ 1L Buye+ud | 25 AT 1L ys4e+u4 [ 25 A~ 1w, 3uze+ud | 25
4000 P, PO 4190+ 0.0 4000 P po 4194+ 0.0 4000 _=— po 4199+ 0.0 4000 po 4208+ 0.0
pl -35.73+ 0.00 pl -35.53+ 0.00 r pl -35.77 + 0.00 pl -35.16+ 0.00

3000

1 3000 =1 3000 -1 3000 - -1

2000 - 2000 - 2000 = 2000 -

1000 E 1000 - 1000

] woo- C = 28.44 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,54 TVC(cbch) (155 TVC(cbch) (1,56 TVC(c, bch) (1,57

-1 nuiL 402e+04 / 25 T rnuan 1.44e+04 | 25 “ i fube+u4 [ 25 ~ g r10e+u4 [ 25
4000 &, pO 4223 0.0 4000k, pO 4223+ 0.0 4000 fome, pO 4240+ 0.0 4000 fs pO 4242+ 0.0
Pl 3607+ 000 Pl 3616+ 000 [ -36.8+ 0.0 Pl 3565+ 000

3000~ - 3000 - 3000 - 3000 4
2000 - E 2000 - 2000 - 2000 [ -
w0f ¢ 4 1000 b tooop ] woor C = 28.05 [ps/ch ]
I I - oL I L = I -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 5 8) TVC(c,b Ch) (1, 5 ) TVC(c,b, Ch) (1, 5 10) TVC(c,b Ch) (1, 5 1)
© 1 nug,Quse+u4 / 25 T 123e+05/ 25 T nug 3 rge+ud [ 25 T 1 /be+04 / 25
4000 [, pO 4234+ 0.0 4000 [, pO 4258+ 0.0 4000 [, DO 4272+ 00 4000 fam, p0 4280+ 0.0
Pl -3647:000 Pl -36.27+000 [ PL_ -37.03% 0.00 Pl -36.99+ 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 -1 2000 - 2000 -1 2000

1000 E 1000 - 1000 E 1000

0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(lSl ) TVC(cbch)(1513) TVC(cbch)(151 ) TVC(cbch)(1515)
T L psse+u4 / 25 T nui osze+ud [ 25 1L p4ve+ud | 25 T inuigiae+u4 /25
4000 f pO 4251+ 0.0 4000 e, pO 4246+ 0.0 4000 f, PD 4245+ 0.0 4000 fi, pO 42554 0.0
pl -36.04 + 0.00 pl -35.9+ 0.0 + -35.61+ 0.00 pl -35.7 % 0.0

3000

7 3000 _ 3000 - 3000 .

2000 B 2000 — 2000 E 2000

1000 -1 1000

-1 1000 - 1000

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(lGO) TVC(cbch)(lGl) TVC(cbch)(162) TVC(cbch)(163)
AT 1L 441e+04 /25 A~ 1 buse+ud [ 25 A” 1L sule+u4 [ 25 A~ 1w buze+ud | 25

4000 - PO 4192+ 0.0 4000 - po 4196+ 0.0 4000 __- po 4204+ 0.0 4000 [ po 4211+ 0.0
pl -37.2+ 0.0 pl -36.74 % 0.00 : pl -37.57 + 0.00 pl -36+ 0.0

-1 3000

3000 - -1 3000

-1 3000

2000~ 1 2000 = 2000 -1 2000

=1 1000

wol- C = 26.88 [ps/c 1

=1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (16,4 TVC(cbch) (16,5 TVC(cbch) (16,6 TVC(c, bch) (16,7

- i 3z9e+04 / 25 T 3z3e+04 [ 25 - rnuiLz41e+04 [ 25 - rnui1/0e+04 / 25
4000 [, pO 4219+ 0.0 4000 pO 4216+ 0.0 4000 (e, pO 4219+ 0.0 4000 4218+ 0.0
Pl -36.85: 0.00 -36.29+ 0.00 3 PL_ -35.75%0.00 -35.2+ 0.0

3000 - -1 3000 1 3000 1 3000 =1

2000 E 2000 B 2000 - 2000 ]

1000 C B 1000 7] woo- C = 27.97 [ps/ch 7] 1000 7]

[ . ]
-- -'_ - -
- - -
0, 1 1 1] 0, 1 1 1 1
EY 00 50 100 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehch=(1,6,8) TVC(Ebe=(1,6,9) TVC(eh.ch=(1, 6, 10) TVC(ebe)=(1,6,11)
©nuiLyzoe+u4 / 25 T g 3yze+u4 [ 25 © 1L gbye+u4 / 25 T g 5be+04 /25
4000 e, pO 4220+ 0.0 4000 e, pO 4240+ 0.0 4000 e, DO 4255+ 0.0 4000 fom, p0 4245+ 0.0
3491+ 0.00 Pl 3533000 [ pl -35.11% 0.00 3475+ 0.00

3000

-1 3000 - 3000 - 3000 -

2000 -1 2000 N 2000 -1 2000 -

1000 1 1000 N 1000

] ol C = 28.77 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,6,12 TVC(C, bch) (1,6,13 TVC(cbch) (1,614 TVC(C, bch) (1,6,15

T rnuiLb31e+u4 / 25 T 1 nuiL ozve+ud / 25 ~ 1 nuiLpuve+u4 / 25 Tonai g rse+ud [ 25
4000 b, PO 4230+ 0.0 4000 e, PO 4227+ 0.0 4000 F PD 4221+ 0.0 4000 o, PO 4213+ 0.0
pl -37.39+ 0.00 pl -36.55+ 0.00 r pl -36.17 + 0.00 pl -36.27 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 E 2000 E 2000 E 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (L, 7/ " \91)349+U4 125 TVC(ch Ch) (1 )\7' uu:!l o)meﬂm/zs TVC(eb Ch) (L x 7: " un21 .?meﬂm 125 TvC(eb Ch) (1 A7’ ”“:i 2339*04/25
4000 - po 4185+ 0.0 4000 - po 4202+ 0.0 4000 __- po 4195+ 0.0 4000 e po 4212+ 0.0
Pl 3553+ 0.00 Pl -36.42+0.00 [ pl 3565+ 0.00 pL -36.7+ 0.0

-1 3000

3000 -1 3000

-1 3000

2000 - 2000 -1 2000 =1 2000

1000 -1 1000 =1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (17,4 TVC(cbch) (17,5 TVC(cbch) (17,6 TVC(c, bch) (1,77

-1 nuiL uB4e+04 / 25 -1 nurL 458e+04 / 25 ~ 1 nuiLyule+ud / 25 S rzze+u4 | 25
4000 o, pO 4196+ 0.0 4000 e, pO 4194£ 00 4000 4240 0.0 4000 e, pO 4220+ 00
Pl -36.89+ 0.00 Pl 36,66+ 0.00 F -37.1% 00 Pl -37.38% 0.00
3000 |~ -1 3000 -1 3000 -1 3000 |- -1
2000} 4 2000 - 2000 - 2000 4
1000f C 4 1000 - 1000 - 1000f C 4
- -
- - -
o 1 L = 0 o 1 L o 1 1 "
50 T00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,7,8 TVC(cbch) (1,7, TVC(cbch) (1,7,10 TVC(cbch) (L7,

) 9) ) 1)
Tz 1sze+04 [ 25 -1 nuigguze+ud / 25 4000 T nuizuyre+ud [ 25 Tonan 1 o3e+u4 [ 25
4000 b, PD 4218+ 0.0 4000 po, DO 4219+ 0.0 - DO 4227+ 0.0 4000 pom, pO 4238+ 0.0
pl -36.51+ 0.00 pl -35.84 + 0.00 r pl -35.98 + 0.00 pl -36.64 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 B 2000 B 2000 1 2000

1000 e 1000 - 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,7,12 TVC(C, bch) (1,7,13 TVC(cbch) (1,7,14 TVC(C, bch) (1,7,15

T zoze+u4 | 25 T nai zose+ud 25 T i 13pe+u4 / 25 T naizzye+ud [ 25
4000 k=, PO 4226+ 0.0 4000 e, PO 4228+ 0.0 4000 - PD 4223+ 0.0 4000 o, PO 4231+ 0.0
pl -35.54 + 0.00 pl -36.48 + 0.00 r pl -35.54 + 0.00 pl -35.74+ 0.00

- 3000

3000 T 3000

-1 3000 =

2000 -1 2000 T 2000 -1 2000 -

1000 1 1000 1000

] lo00F C = 27.98 [ps/ch

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,8,0)

X~ 1w olie+ud [ 25
P po 4173+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(cbch) (18,4

- 1 nuiLuabe+u4 / 25
- pO 4213+ 0.0
pl -37.92:+ 0.00

L=
50 100
TP delay [ns]

TVC(cbch) (1 8,8

T ye+ud /25
= po 4203+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (1,812

T rnuiLpbure+u4 / 25
= po 4238+ 0.0
pl -36.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,81

AT 1 nuiLby/e+u4 /25
== po 4201+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 8

=1 nui Ise+ud / 25
== po 4205+ 0.0
pl -37.44 % 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1 8,9

T nu n3ze+u4 /25
= po 4230+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(C, bch) (1,813

T nuiooze+ud [ 25
= pO 4220+ 0.0
pl -35.38+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,8,2)

A~ 1 nuioooe+u4 / 25
- po 4204+ 0.0
L pl -36.74+ 0.00

3000

TP delay [ns]

TVC(cbch) (18,6

- L 3r8e+u4 [ 25
- pO 4208+ 0.0
3 pl -37.14 0.00

3000

TP delay [ns]

TVC(cbch) (1, 8 10

© 1 nuiz,usge+ud | 25
= po 4241+ 0.0
o pl -36.18+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,8 14

T nuiLpule+ud / 25
- pD 4237+ 0.0
[ p1 -37.14+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

AT rnuiLblze+ud [ 25
- po 4208+ 0.0
pl -36.87 + 0.00

TP delay [ns]

TVC(c,b ch) (1 8,7

- 1nuiLa18e+04 / 25
= po 4209+ 0.0
pl -37.24+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T, /zue+u4/25
= po 4235+ 0.0
p1 -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (1,815

Tinaias/e+ud [ 25
e pO 4237+ 0.0
p1 -35.94 + 0.00

TP delay [ns]



TVC(c,b Ch) (1,9,0) TVC(c,b Ch) (1,9,1) TVC(c,b Ch) (1,9,2) TVC(c,b Ch) (1,9,3)
K-Sl (e+04] 25 X 1L dave+Ud | 25 X~ 1 L6uLe+U4 ] 25 % Loesud 125
4000, po 41954 0.0 4000 fmee,, pO 4205+ 0.0 4000 e, po 4201% 0.0 4000 po 4234% 0.0
Pl -36.22+ 0.00 Pl -35.94% 0.00 b PL_ -36.33:000 pl -38.2% 0.0

3000

- 3000 -1 3000 -1 3000 -

2000 1 2000 =1 2000 -1 2000

1000 - 1000 -1 1000 =1 1000 [~

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (1,9,4) TVC(cbch) (1,9,5) TVC(cbch) (1,9,6) TVC(cbch) (1,9.7)
- 1L 1yse+u4 / 25 - nui 3rve+04 [ 25 ©1nuiL453e+04 [ 25 -1 nui 439e+04 / 25
4000, pO 4209+ 0.0 4000 e, pO 4223+ 0.0 4000 e pO 4229+ 0.0 4000 e, pO 4233+ 0.0
pl -36.37 + 0.00 pL -36.83 + 0.00 3 pl -37.05:+ 0.00 pL -36.14 + 0.00
3000~ T 3000 B 3000 — — 3000 B
2000 4 2000 - 2000 — — 2000 - -
1000 C - 1000 - 1000:— C =26.99 [pS/Ch — 10001 C -
0 EY o 0 of EY 0 5 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (1,9,8) TVC(c,b ch) (1,9,9) TVC(c,b, ch) (1,9,10) TVC(c,b ch) (1,9,11)
T nuiL4oe+u4 / 25 Ty 2ze+04 1 25 T nupZe+u4 [ 25 - 1 boge+u4 / 25
i pO 4180+ 0.0 4000 pO 4212 0.0 e DO 4230+ 0.0 4000 4222+ 0.0
-34.03 0.00 pL -34.76+ 0.00 [ pl -35.68:+ 0.00 -34.23 0.00
3000 [~ B 3000 N 3000 ' 3000 -
2000 - 2000 — 2000 ' 2000 B

] 1000 1000}

w0k C = 29.39 [ps/ch] wob C = 29.22 [ps/ch\, 1

1 1
0 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(lQl ) TVC(cbch)(1913) TVC(cbch)(191 ) TVC(cbch)(1915)
TnuiLag/e+u4 [ 25 T i bybe+u4 / 25 ~ L o8se+u4 [ 25 T 1 su4e+04 [ 25
i pO 4207+ 0.0 4000 [ 41954 0.0 4000 PD 4200+ 0.0 4000, 4209+ 0.0
pl -34.85+ 0.00 -34.25+ 0.00 : pl -35.41+ 0.00 -34.38 + 0.00
3000 N 3000 [ 1 3000 ' 3000 [ B
2000 B 2000 - 2000 ' 2000 E

1000 1000

1o C = 29.20 [ps/ch] ] oo C = 29.09 [ps/ch] ]

PR BRSNS | PR PR S S |
50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T s4ve+u4 [ 25
.. pO 4197+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (1,10,4

S i1 3ve+04 /25
e pO 4185+ 0.0
p1 -34.54+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 10 8

T, r1pe+u4 | 25
= po 4230+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(cbch) (1,10,12

©rnuiLg45e+04 / 25
= po 4224+ 0.0
p1 34+ 0.0

[ C =29.41 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

AT nun L zbe+ud [ 25
o=, po 4214+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,5

=1 nui 488e+04 / 25
e pO 4186+ 0.0
pL -35.22:+ 0.00

TP delay [ns]

TVCebeh)=( 1, 10,9

~ 1 nuig.pule+ud / 25
= po 4235+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (110,13

T nui soge+ud / 25
F 4228+ 0.0
-33.06 + 0.00

[ C=30.25[ps/ch] ™ 7
s *
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(CbCh) (1,10,2)

A7 nun zeoe+u4 / 25
=, po 4201+ 0.0
L pl -35.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,10,6

-1 nuig 354e+04 / 25
- pO 4205+ 0.0
[ pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

1000

0

T rnuiLyyle+ud / 25
= po 4252+ 0.0
- pl -36.55+ 0.00

TP delay [ns]

TVC(cbch) (110,14

T z3e+u4 [ 25
4228+ 0.0
-35.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

AT rnuiLzzze+ud | 25
=, po 4198+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(c, bch) (1,10,7

- nui blye+ud / 25
- pO 4217+ 0.0
pL -35.82:+ 0.00

50 1(;0
TP delay [ns]

TVC(eh.eh)=(1, 10, 11

T nuiz 115e+04 / 25
= pO 4277+ 0.0
pl -38.39+ 0.00

TP delay [ns]

TVC(cbch) (1,10,15

Tinuib13e+ud [ 25
F=. 4213+ 0.0
-33.78 + 0.00

[ C =29.60 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A7 1 nui oyve+ud / 25
o= po 4201+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(cbch) (1,114

-1 nuiLa4ze+04 [ 25
[, PO 4206+ 0.0
pl -35.89+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1, 11,8

T 1nug.g3ve+u4 / 25
= po 4228+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 12

X1 azze+04 [ 25
= po 4240+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(Cbch) (1,11,1)

AT 1 nuiLbyle+ud /25
Fe po 4211+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (1,11,5

=1 Ui bobe+u4 / 25
- pO 4202+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(eb.eh)=(1, 11, 9

T b.bYe+u4 / 25
= po 4254+ 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(cbch) (1,11,13

T inuisi4e+ud /25
pO 4239+ 0.0
pl -36.66 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1, 11 2)

T rs1e+U4 /25
__- pO 4226+ 0.0
L pl -37.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,116

1000

- rnui bzze+u4 | 25
- pO 4221 0.0
[ pl -36.22+ 0.00

TP delay [ns]

TVC(eb,ch)=(1, 11, 10

1000

0

X~ 1 nuzbave+04 [ 25
- po 4271+ 0.0
- pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (1,11, 14

X~ 1L p1se+ud [ 25
- po 4235+ 0.0
[ p1 -37.41% 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,11,3)

AT 1L base+ud [ 25
- po 4227+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (1,11,7

-1 nui bz3e+u4d / 25
- pO 4231% 0.0
pL -36.09+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 11 11

Tonanz.14e+04 /25
- po 4275+ 0.0
pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (111,15

T nui oyve+ud [ 25
e pO 4244+ 0.0
p1 -37.59.+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T yzze+ud [ 25
P pO 4154+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (1,124

- 1L 325e+04 ] 25
= pO 4171+ 0.0
pl -35.28+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 12,8

Tz 1uze+u4 / 25
4197+ 0.0
-35.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,12,12

1L byse+u4 / 25
pO 4193+ 0.0
pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,12,1)

AT rnunLisie+ud [ 25
peoe.. po 4163+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (1,125

=1 nui buge+u4 [ 25
- pO 4185+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

T inug gy /e+ud [ 25
= po 4202+ 0.0
p1 -34.38 £ 0.00

TP delay [ns]

TVC(cbch) (112,13

- T nuiLosbe+ud / 25
= pO 4192+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (1,12,2)

X~y zie+ud [ 25
™, po 4173+ 0.0
L p1 -34.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (1126

- 1nun339e+04 / 25
4184+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(Ee b eh)=( 1, 12, 10

T 1nuzs14e+04 / 25
= po 4223+ 0.0
- pl -35.63 + 0.00

TP delay [ns]

TVC(cbch) (112,14

T L b18e+u4 / 25
pD 4208+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,12,3)

AT rnuiLLrse+ud [ 25
- po 4180+ 0.0
pl -34.51+ 0.00

TP delay [ns]

TVC(c, bch) (1,127

- /i a3ae+0d | 25
- pO 4198+ 0.0
pL -35.62:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 12 11

-1 nuiLyuze+ud / 25
= po 4216+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (1,12,15

- Tinusiie+rud /25
pO 4196+ 0.0
p1 -35.3+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,13,0)

X~ 1y s3re+U4 /25
Faase 4204+ 0.0
-37.61+ 0.00

50 100

TP delay [ns]

TVC(cbch) (1,134

T rnuLyy/e+ud / 25
Feee pO 4211+ 0.0
pl -35.32:+ 0.00

TP delay [ns]

TVC(cbch) (1, 13 8

1 nuizyoze+u4 | 25
= po 4195+ 0.0
pl -34.35+ 0.00

TP delay [ns]

TVC(cbch) (1,13, 12

©rnuizuase+ud | 25
= po 4252+ 0.0
pl -36.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,13,1)

A7 1 num. zobe+ud [ 25
o, po 4204+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c, bch) (1,135

-1 nu.z3ye+u4d [ 25
4225+ 0.0
-35.7 £ 0.0

1
50 100

TP delay [ns]

TVCEebeh)=( 1, 13,9

T nugyrse+ud [ 25
po 4253+ 0.0
p1 -34.84 + 0.00

TP delay [ns]

TVC(cbch) (113,13

-1 nuiLyuge+ud 25
4254+ 0.0
-37.01+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,13,2)

A~ 1 nui140e+04 /25
po 4204+ 0.0
pl -36.92+ 0.00

TP delay [ns]

TVC(cbch) (1,136

-1 nuiLy4ge+u4 | 25
pO 4233 0.0
363+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (1, 13 10

T g 1zze+04 [ 25
po 4264+ 0.0
p1 -36.46  0.00

1
100

TP delay [ns]

TVC(cbch) (113,14

T, rs4e+04 / 25
pD 4237+ 0.0
pl -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,13,3)

AT 1y o3oe+ud [ 25
Froee po 4226+ 0.0
pl -36.39+ 0.00

TP delay [ns]

TVC(c, bch) (1,137

-1 i BYyoe+u4 / 25
- pO 4239+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 13, 11

T inuz.zole+ud [ 25
- po 4259+ 0.0
pl -36.02+ 0.00

TP delay [ns]

TVC(cbch) (1,13,15

T nai yzze+ud [ 25
= pO 4256+ 0.0
p1 -37.17+ 0.00

TP delay [ns]



TVC(eh.ehy=(1, 14,0)

S g 3oe+ud /25
4201+ 0.0
p1 -36.9 + 0.00

4000 e ” P°
3000
2000

w00 C = 27.10 [pS/C

1
50 100

TP delay

TVC(cbch) (1,144

4000 [,

[ns]

- rnuiLa14e+04 / 25
4178+ 0.0
pl -35.97 + 0.00

3000

2000

1000

TP delay

TVC(e.b.eh)=( 1, 14,8

[ns]

nuzss/e+04 [ 25
4173+ 0.0
-33.32 0.00

4000 pO
pl

3000 -

2000 -

wol- C = 30.01 [ps/ch]

1
s 50 100

TP delay

TVC(e,b.eh)=( 1, 14, 12

4000 fom PO

[ns]

- i p1ze+u4 [ 25
4261 0.0
p1 -37.02:+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(ebeh=(1,14,1)

A1 nuiLalve+ud [ 25

e PO 4194+ 0.0
pL -36.26  0.00

TP delay [ns]

TVC(eb.eh)=(1, 14,5

- rnuiLblae+u4 [ 25
™, DU 4191+ 0.0
pl -37.28:+ 0.00

TP delay [ns]

TVC(eb.eh)=(1, 14, 9

-1 pose+ud [ 25
E po 4200+ 0.0
pL -35.19.+ 0.00

TP delay [ns]

TVC(e.b.ch)=(1, 14, 13

- i by3e+ud [ 25
- pO 4254+ 0.0
pl -37.52:+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(eb.ehy=(1, 14,2)

Fou P

K™ 1 i aoye+0d /25
4213+ 0.0
pl -36.84 + 0.00

TP delay

TVC(cbch) (1,146

pO
p1

[ns]

- 1uIL441e+04 | 25
4175+ 0.0
-36.66 + 0.00

TP delay

TVC(e.b.eh)=( 1, 14, 10

- b

[ns]

oz 1sae+04 [ 25
4224+ 0.0
pl -34.97 + 0.00

TP delay

TVC(eb.eh)=(L, 14, 14

1000

[ns]

- i zage+u4 [ 25
4261+ 0.0
pl -37.12.+ 0.00

TP delay

[ns]

TVC(ebeh)=(1,14,3)

4000 fur PO

pL 3

A” 1L s94e+U4 [ 25
4230+ 0.0
-37.21+ 0.00

3000

2000

1000

TP delay

TVC(eb.eh)=(1, 14,7

4000 PU

[ns]

T brye+ud [ 25
4199+ 0.0
p1 -36.34+ 0.00

3000

2000 -

1000 C

50 1(;0
TP delay

TVC(chehy=(1, 14, 11

4000 £ p0

pl

[ns]

- nuiL g Ze+ud [ 25
4214+ 0.0
-34.41+ 0.00

3000 -

2000 =

lo00r C = 29.06 [ps/ch]

1
50 100

TP delay

TVC(eb.ch)=(1, 14, 15

4000

[ns]

- rnuiLbare+ud [ 25
4255+ 0.0
-36.71+ 0.00

3000

2000

1000

A
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

T rnuiLpLse+ud [ 25
- pO 4206+ 0.0
pl -38.09 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,154

T ro/e+u4 [ 25
- pO 42254 0.0
366+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

1 nuiLgoge+u4 / 25
- po 4226+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (1,15,12)

T rnuiLgEoe+u4 / 25
= po 4233+ 0.0
pl -35.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,15,1)

. PO

AT 1 nuiLbb/e+ud /25
4208+ 0.0
p1 -37.41+ 0.00

TP delay [ns]

TVC(cbch) (1,155

- pO

“nui/ (oe+u4 [ 25
4228+ 0.0
pl -36.33+ 0.00

TP delay

TVC(c, bch) (1, 15 9

= po

[ns]

T nu.yzze+ud [ 25
4259+ 0.0
pl -36.49 + 0.00

TP delay

TVC(cbch) (115,13

= po

[ns]

~ 1 nuiL yve+ud / 25
4230+ 0.0
pl -35.55+ 0.00

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

L=
50 100

TP delay [ns]

TVC(cbch) (1,156

AT 1nui/1se+04 /25
_l' po 4228+ 0.0
o pl -38.31+ 0.00

3000

-1 nuibBle+ud / 25
- pO 4230+ 0.0
[ pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

T zpre+ud /25
- DO 4273+ 0.0
- pl -37.28 + 0.00

TP delay [ns]

TVC(cbch) (115,14

~ 1L bs4e+04 [ 25
- pD 4237+ 0.0
L pl -34.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,15,3)

e po

AT rmuiLr1re+ud [ 25
4218+ 0.0
pl -36.93+ 0.00

TP delay

TVC(c, bch) (1,157

o= pO

[ns]

- i /38e+u4 / 25
4231+ 0.0
pl -35.42 % 0.00

TP delay

TVC(eheh)=(1, 15, 11

- pO

[ns]

T nuiLyb/e+ud [ 25
4291+ 0.0
p1 -36.45 + 0.00

TP delay

TVC(cbch) (1,15,15

[ns]

T nai ruoe+ud / 25
4236+ 0.0
p1 -35.33+ 0.00

TP delay

[ns]



TVC(cbch)(ZOO TVC(cbch)(ZOl) TVC(cbch)(202) TVC(cbch)(203

X~ 1w ny1e+U4 /25 “nun L s4e+u4 [ 25 X~ 1w yuse+U4 [ 25 AT 1nuiLBy/e+u4 [ 25
4000, po 4206+ 0.0 4000, po 4221+ 0.0 4000, po 4215+ 0.0 4000 o, po 4207+ 0.0
Pl -37.69+ 0.00 Pl -37.54% 0.00 3 pl -36.61+ 0.00 Pl -36.36% 0.00

3000

1 3000 =1 3000 -1 3000 -1

2000 1 2000 = 2000 = 2000

1000 — 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (2,0,4) TVC(cbch) (2,05) TVC(cbch) (2,0,6) TVC(cbch) (2,0,7)
-1y .434e+04 [ 25 - U 3yse+u4 [ 25 - rnuiy s1e+u4 / 25 =1 Ui Yobe+u4 / 25
4000@ pO 4192+ 0.0 4000, pO 4195+ 0.0 4000 [, pO 4213+ 0.0 4000 f pO 4213+ 0.0
pL -34.83+ 0.00 -34.53+ 0.00 3 pl -35.46+ 0.00 pL -34.73+ 0.00
3000 - - 3000~ B 3000 ' ' 3000 7
2000 = 2000 - = 2000 :_ _: 2000 - N
00| 8 w0l C = 28.96 [ps/ch] 4 1000:'(: =28.20 [ps/ch . ' 0 C = 28.79 [ps/ch] ]
1 1 - 1 1 - : 1 1 -H e 1 1 -
50 T00 50 00 50 00 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (2,0,8) TVC(c,b ch) (2,0,9) TVC(c,b, ch) (2,0,10) TVC(c,b ch) (2,0,11)
© 1 nu.458e+04 [ 25 T 5.33e+04 / 25 — T nug,zzye+u4 [ 25 - - 1nuz b3le+ud [ 25
i pO 4188+ 0.0 000, pO 4200+ 0.0 ) pO 4227+ 0.0 4000 P, p0 4236+ 0.0
pl -35.11+ 0.00 pL -35.94 + 0.00 [ pl -36.45+ 0.00 pL -36.23+ 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 ] 2000 E 2000 - 2000

1000 ] 1000 - 1000 = 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(ZOl ) TVC(cbch)(2013) TVC(CbCh)(ZOl ) TVC(cbch)(2015)
T nuiLszye+ud [ 25 T 1 goe+u4 / 25 ~ 1, 140e+04 [ 25 AL ze+V4 /25
4000 e pO 4206+ 0.0 4000 pO 42212 0.0 4000 o, PD 4218+ 00 4000 P, pO 4205% 0.0
pl -34.46 + 0.00 pl -35.74 + 0.00 r pl -35.17 + 0.00 pl -34.65+ 0.00

-1 3000

3000 _ 3000 - 3000 -1

2000 - 2000 - 2000 -1 2000

1000 1000 1000 N __ 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0)

— po

K71 nuis ozoe+u4 /25
4221+ 0.0
pl -40.37 + 0.00

-
50 100

TP delay

TVC(cbch) (21,4

[ns]

-1 nuiLas4e+04 / 25
4178+ 0.0
-35.41+ 0.00

50 10‘0
TP delay

TVC(ebeh)=(2, 1,8

F. pO

[ns]

T rnuiz0yre+u4 [ 25
4216+ 0.0
pl -36.91+ 0.00

TP delay

TVC(cbch) (21,12

- pO

[ns]

©rnuiL4sve+u4 / 25
4205+ 0.0
pl -35.06 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1)

(11e+u4 /25
4215+ 0.0
-39.15+ 0.00

A,

- PO
p1

TP delay [ns]

TVC(c,b ch) (2 1,5

-1 nui4z29e+04 [ 25
4193+ 0.0
-35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 1

— po

pl

<1 nuis.obze+ud 25
4242+ 0.0
-37.18+ 0.00

TP delay [ns]

TVC(cbch) (21,13

T inuiLoroe+ud [ 25
4227+ 0.0
-36.58 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

[Foeee, DO

T syoe+ud /25
4220+ 0.0
pl -37.96 + 0.00

TP delay [ns]
TVC(cbch) (2 1,6)
“nuiLb41e+04 / 25
F... pO 4198+ 0.0
L pl -35.88::‘
- C = 27.87 [ps/ch .
| -
50 100
TP delay [ns]

TVC(ebeh)=(2 1, 10

- o

T 13Ye+ud /25
4242+ 0.0
pl -35.96 + 0.00

TP delay

TVC(cbch) (2,1, 14

A1 17

PO
pl

[ns]

ve+u4 /25
4221+ 0.0
-36.34+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

- PO

x- 1w Qaae+ud | 25
4228+ 0.0
p1 -37.98+ 0.00

TP delay

TVC(c,b ch) (2 1,7

[ns]

-1 nui b3le+u4 / 25
4198+ 0.0
-35.8+ 0.0

50 1(;0
TP delay

TVC(c,b ch) (2, 1

= pO

[ns]

T, /sye+u4/25
4247+ 0.0
pl -36.68 + 0.00

TP delay

TVC(cbch) (21,15

[ns]

T nai 40e+u4 [ 25
4204+ 0.0
p1 -35.99+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0

A7 nuiayse+ud / 25
P, po 4176+ 0.0
p1 -35.14+ 0.00

TP delay [ns]

TVC(cbch) (2,24

- 140e+04 [ 25
P, pO 4198+ 0.0
pl -37.36+ 0.00

TP delay [ns]

TVC(ebch)=(2,2,8

Tz Zise+u4 [ 25
= po 4190+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (2,212

T rnuiLguse+u4 / 25
= po 4237+ 0.0
pl -37.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1

AT rnunL3rse+ud [ 25
pee,, po 4188+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,5

- 1o 3z8e+04 25
™, DU 4183+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

T nun 3b/e+ud [ 25
4234+ 0.0
-35.6 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (2,213

TinuiLnrse+ud [ 25
- pO 4222+ 0.0
pl -36.33+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (2,2,2)

K™ 1 nuioose+ud / 25
- po 4193+ 0.0
L p1 -36.8+ 0.0

3000

TP delay [ns]

TVC(cbch) (2,2,6

- i bb3e+ud / 25
= pO 4198+ 0.0
3 pl -37.12+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(2,2, 10

T z.Zoe+u4 /25
o=, po 4228+ 0.0
- pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,214

T L gsve+u4 / 25
- pD 4228+ 0.0
[ p1 -37.05+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3

AT rnuaiLo/ze+ud [ 25
P, po 4205+ 0.0
pl -37.68+ 0.00

TP delay [ns]

TVC(c,b ch) (2 2,7

-1 nui bale+u4d / 25
- pO 4201% 0.0
pL -37.01% 0.00

50 100
TP delay [ns]

TVC(c,b ch) (2, 2

T, /ue+u4/25
= po 4220+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(C, bch) (2,215

T nui p4ve+ud [ 25
4222+ 0.0
-35.81+ 0.00

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

T pa/e+ud /25
4206+ 0.0
-36.75+ 0.00

TP delay [ns]

TVC(cbch) (2,34

- i bbye+ud / 25
4208+ 0.0
-36.66 + 0.00

== po
pl
e 4
- s
TP delay [ns]
TVC(c,b ch) (2, 3 8
e pD

 1nuz 3yse+u4 | 25
4227+ 0.0
-37.13+ 0.00

TP delay [ns]

TVC(cbch) (2,312

©rnuiLgu4e+u4 / 25
4229+ 0.0
-34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

e, po

AT 1L zzoe+ud [ 25
4214+ 0.0
-36.57 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (2 3,5

“nuib3/e+u4 [ 25
4197+ 0.0
-35.72+ 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

e, po

pl

T inug s 3e+ud [ 25
4257+ 0.0
-37.67+ 0.00

TP delay [ns]

TVC(C, bch) (2,313

Tanai/rge+ud [ 25
4227+ 0.0
-34.86 + 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

1000

TVC(cbch) (2,3,2)

= P°

T 1sae+u4 /25
4210+ 0.0
pl -36.27 + 0.00

TP delay

TVC(cbch) (23,6

= P°

[ns]

=1 nurL5pye+u4 [ 25
4218+ 0.0
pl -35.99 + 0.00

TP delay

TVC(cbch) (2, 3 10

- o

[ns]

1 nuizpgbe+u4 | 25
4270+ 0.0
pl -36.33+ 0.00

TP delay

TVC(cbch) (2,3 14

[ns]

T 1L p4se+ud [ 25
4226+ 0.0
-34.81+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,3)

e po

AT rnuiLzzie+ud [ 25
4208+ 0.0
-35.97 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 3,7

b= pO
pl

- nui 334e+04 / 25
4197+ 0.0
-35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

= pO

T 9a4e+u4/25
4258+ 0.0
-36.01+ 0.00

pl

TP delay [ns]

TVC(C, bch) (2,3,15

SRR

153e+U4 | 25
4228+ 0.0
-36.07 + 0.00

TP delay [ns]



TVC(cbch)(240) TVC(cbch)(24l) TVC(cbch)(242) TVC(cbch)(243)
AT 1L 5r4e+04 /25 A” 1 B3ve+ud | 25 A” 1w byse+u4 [ 25 A1y rare+Ud | 25
4000 fme, po 4204+ 0.0 4000 [, po 4190+ 0.0 4000 e, po 4197 0.0 4000 fe, po 4220% 0.0
pl -35.07 + 0.00 pl -34.6 £ 0.0 r pl -35.42+ 0.00 pl -36.45+ 0.00

- 3000

3000 N

1 3000 =1 3000

2000 4 2000 - 2000 ] 2000

1000 E 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (2,4,7

T i, ry3e+u4 / 25 - B1ze+ud [ 25 -1 i Bo4ae+u4 [ 25 - nui /83e+u4 / 25
4000 pO 4209+ 0.0 4000 e, pO 4218+ 0.0 4000 e, pO 4229+ 0.0 4000 e, pO 4226+ 0.0
pl -35.92+ 0.00 pL -35.98 + 0.00 3 pl -36.91+ 0.00 -36.4+ 0.0

3000~ 1 3000 - 3000 [~ B 3000 1

2000 - — 2000 - 2000~ - 2000 4

10001~ C E 1000 - 1000 r C=27.10 [pS/Ch ] 1000 -

» [ ]
-~ s . "
1 1 o 1 - 0 1 [
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

Tonunz.z3e+04 /25 T g, robe+u4 [ 25 T, (gle+u4 / 25 T, 1b=e+u4/25
4000 pO 4245+ 0.0 4000 pO 4259+ 0.0 4000 [, DO 4275500 4000, p0 4280+ 0.0
pl 3342000 PL_ -37.47%0.00 [ PL_ -37.32+ 0.00 Pl -37.68+ 0.00

-1 3000

3000~ 1 3000 -1 3000 .

2000 1 2000 E 2000 B 2000 g
1000 4 1000 - 1000 - 1000 4
. - [
-
% 50 00 0 0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
T rsse+u4 [ 25 T inai roae+ud /25 T Ly roe+u4 / 25 T inui szie+u4 /25
4000 [m, pO 4244+ 0.0 4000 pO 4229+ 0.0 4000 PD 4233+ 0.0 4000 o, pO 4237+ 0.0
-34.72+ 0.00 -35.15+ 0.00 I pl -35.22+ 0.00 pl -35.15 + 0.00

3000~

-1 3000 - 3000 - 3000 .

2000~ - 2000 - 2000 - 2000

wof C = 28.80 [ps/ch] ] 1000 - 5 E 1000: — 1000 4
'5(')""10'0'- ""E'd""m'o'-

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0)

PSRN

LLre+u4 |25
4214+ 0.0
-35.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2,54

pO
pL

T35 /e+04 / 25
4187+ 0.0
-36.47 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (2 5,8

- pD

T 1nuzploe+ud [ 25
4214+ 0.0
-34.57 + 0.00

p1

TP delay [ns]

TVC(cbch) (2,5,12

- po
p1

T soze+u4 / 25
4232+ 0.0
-34.94+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51)

e, po

AT 1 nuiLzsoe+ud [ 25
4208+ 0.0
-35.47 + 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (2 55

- nui b1ge+u4 [ 25
4198+ 0.0
-37.08 + 0.00

TP delay [ns]

TVC(c,b ch) (2 59

pO
pl

T nu, rg3e+u4 / 25
4238+ 0.0
-34.57 + 0.00

I C =28.93 [ps/ch]

50

1
100

TP delay [ns]

TVC(C, bch) (2,5,13

== po

p1

Tinai i/ /e+ud /25
4240 0.0
-34.11 + 0.00

[ C =29.32 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,5,2)

- P

pl

A7 1 nui zoze+U4 /25
4221+ 0.0
-36.67 + 0.00

TP delay [ns]

TVC(cbch) (2,56

- rnubu1e+u4 / 25
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

AT rnuiLsrse+ud [ 25
4216+ 0.0
pl -36.57 + 0.00

po

TP delay

TVC(c, bch) (2,12,7

[T

- pO

[ns]

- be+ud / 25
4266+ 0.0
pl -37.59 % 0.00

50 100
TP delay

TVC(cbch) (2, 12 11

[ns]

Tonan 1 g1e+ud [ 25
4237+ 0.0
pl -35.13+ 0.00

TP delay

TVC(cbch) (212,15

[ns]

T nui s44e+04 / 25
4232+ 0.0
p1 -35.12+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

T L oose+u4 [ 25
.. pO 4203+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (2,134

- rnuiL, roye+u4 / 25
- pO 4239+ 0.0
p1 -40.03 + 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

T nuiLbge+u4 [ 25
= po 4203+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (2,13,12)

T rnuiLgioe+u4 / 25
= po 4229+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(chh) (2,13,1)

4000

3000

2000

1000

A- 1 L bZae+U4 | 25
po 4221+ 0.0
pL -36.5+ 0.0

TP delay [ns]

TVC(c, bch) (2,135

4000 =

3000 -

2000

w00 C = 25.32 [ps/c 7

“nui r4ze+04 [ 25
pO 4242+ 0.0
p1 -39.5+ 0.0

1(;0-
TP delay [ns]

TVCEebeN)=(2 13,9

4000 [

3000

2000

1000

T nug.n43e+u4 / 25
po 4228+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(cbch) (213,13

4000 [

3000

2000

1000

TinuLole+ud /25
pO 4224+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,13,2)

K™ nun g v4e+u4 [ 25
po 4211+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(cbch) (2,136

T LB 5e+u4 [ 25
pO 4252+ 0.0
pl -39.62+ 0.00

TP delay [ns]

TVC(cbch) (2,13,10

©1nuz 1o8e+u4 / 25
4239+ 0.0
-35.4 + 0.0

1(3:0
TP delay [ns]

TVC(cbch) (2.13,14

~ 1L bode+U4 / 25
pD 4227+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

AT 1L bsbe+ud /25
- po 4225+ 0.0
pl -36.98+ 0.00

TP delay [ns]

TVC(c, bch) (2,137

- nuiz 114e+04 / 25
E pO 4255+ 0.0
pL -39.13+ 0.00

TP delay [ns]

TVC(eheh)=(2,13, 11

-1 nui ygse+ud [ 25
e pO 4240+ 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(cbch) (213,15

-1 nuiL bube+ud / 25
po 4228+ 0.0
-35.65+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,14,0)

TnuiLssre+ud [ 25
[, PO 4173% 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (2,144

[ C=27.10[ps/c ]

- i 393e+04 / 25
™, pO 4181+ 0.0
pl -36.9 + 0.0

50 100
TP delay [ns]

TVC(cbch) (2, 14 8

T nuig,1yoe+u4 / 25
- PD 4226+ 0.0
pl -37.45+ 0.00

TP delay [ns]

TVC(cbch) (214,12

~ 1 nuiL4yoe+u4 / 25
- PO 4212+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (2,14,1)

4000 [,

=, po

AT rnunLsrie+ud [ 25
4176+ 0.0
-36+ 0.0

pl

3000

2000

1000

TP delay

TVC(c, bch) (2,145

4000 o pO

pl

[ns]

“nun1.45e+04 /25
4210+ 0.0
-37.32+ 0.00

3000

2000

w00~ C = 26.80 [ps/c

TP delay

TVCebeh)=(2, 14,9

4000 e

[ns]

T nu.zg/e+u4 25
4249 0.0
pl -37.36 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (214,13

4000 po

[ns]

<1 nuiL oyve+ud / 25
4212+ 0.0
-37.1+ 0.0

3000

2000

1000

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,14,2)

A7 1 nun soze+u4 /25

= po 4176+ 0.0
[ pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (2,146

- 1L 508e+04 / 25
- pO 4215+ 0.0
I pl -36.57 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 14,10

1000

0

T nu 13ze+04 [ 25
- DO 4259+ 0.0
3 Pl -37.26% 0.00

TP delay [ns]

TVC(cbch) (2.14,14

TinuiLp14e+u4 [ 25
- PD 4211+ 0.0
[ pl -36.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,14,3)

= pO

AT rnuiLzioe+ud [ 25
4180+ 0.0
p1 -34.76 + 0.00

TP delay

TVC(c, bch) (2,14,7

= pO

[ns]

-1 bize+ud / 25
4211+ 0.0
pl -36.11 + 0.00

TP delay

TVC(cbch) (2, 14 1

= pO

[ns]

T nuiLys/e+ud [ 25
4263+ 0.0
pl -37.58 + 0.00

TP delay

TVC(cbch) (214,15

= pO

[ns]

T nuiqoze+u4 / 25
4211+ 0.0
-35.91+ 0.00

PR PR S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 15 0)

T rnuiLpsse+u4 [ 25
P pO 4174+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(cbch) (2,154

-1 nuiLazoe+04 [ 25
- pO 4189+ 0.0
pl -35.69+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

©1nuizul4e+u4 [ 25
- po 4210+ 0.0
pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (2,15,12

T rnuiLgioe+u4 / 25
= po 4217+ 0.0
-35.31+ 0.00

TVC(chh) (2,15,1)

3000

2000

1000

A1 nuiL4roe+U4 [ 25
4000 e po 4185+ 0.0
pl -35.58+ 0.00

TP delay [ns]

TVC(cbch) (2,155

4000 R

3000 -

2000

1000 [~

-1 nuiL 374e+04 [ 25
pO 4185+ 0.0
p1 -34.71% 0.00

50 1(;0
TP delay [ns]

TVC(c, bch) (2, 15 9

4000 [

3000

2000

1000

T nun o 82e+04 1 25
po 4236+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (215,13

4000 [

3000

2000

1000 [~

T inai szye+ud 25
pO 4207+ 0.0
-34.92+ 0.00

1
100

TP delay [ns]

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (2, 15 2)

T sroe+u4 [ 25
P pO 4190+ 0.0
L pl -35.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,156

T rnun1.39e+04 [ 25
- pO 4198+ 0.0
[ pl -35.88+ 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

©1nuzpzve+u4 | 25
= po 4265+ 0.0
[ p1 -37.47+ 0.00

TP delay [ns]

TVC(cbch) (2.15,14

~ i bude+u4 [ 25
- pD 4222+ 0.0
[ p1 -35.43+ 0.00

3000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

AT rnuiL4rve+ud [ 25
- po 4196+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(c, bch) (2,157

- nuiLbaae+u4 [ 25
o=, pO 4211+ 0.0
pl -36.09+ 0.00

TP delay [ns]

TVC(ehch)=(2, 15, 11

-1 nuiL ypbe+ud / 25
= po 4238+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(cbch) (2,15,15

Tinaizae+u4 /25
- 4210+ 0.0
-33.29+ 0.00

[ C =30.04 [ps/ch] %. ]

PR PR S S |
50 100

TP delay

[ns]



4000

3000

2000

1000

TVC(cbch) (3,0,0)

P, po

A7 nui osle+ud /25
4202+ 0.0
pl -38.14 + 0.00

o 1 [
50 100
TP delay [ns]
TVC(cbch) (3,0,4)
- i, r88e+u4 | 25
4000 [ pO 4215+ 0.0
p1 -37.63+ 0.00
3000 [~ ]
2000~ ]
L]
1000~ C ]
0 = 00 =
TP delay [ns]
TVC(cbch) (3 0,8)
— T i, (5ze+04 [ 25
40002, po 4167+ 0.0
p1 -34.04 + 0.00
3000~ 1
2000 - 7
1or C = 29.38 [ps/ch]™, ]
1 L -
0 50 100
TP delay [ns]
TVC(cbch) (3,0,12)
T inuiL, r54e+04 / 25
4000 e pO 4239+ 0.0
pl -35.71+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

P po

p1

A7 1 nuiL3y4e+u4 [ 25
4173+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

-1 nu 3bYe+ud / 25
4207+ 0.0
-36.73+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

= po

pl

T nu.339e+u4 / 25
4210+ 0.0
-34.75+ 0.00

TP delay [ns]

TVC(C, bch) (3,0,13

~ 1 nui gyse+ud 25
4223+ 0.0
-35.77+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

TVC(cbch) (3,0,2)

po

pl

K™ 1 nuioyoe+u4 / 25
4192+ 0.0
-37.2+ 0.0

- C = 26.88 [ps/c

TP delay

TVC(cbch) (3,0,6

pO
p1

[ns]

-1 nuiLys4e+u4 [ 25
4230+ 0.0
-38.09 + 0.00

TP delay

TVC(cbch) (3, 0 10

[ns]

© 1 nuz soge+u4 | 25
4201+ 0.0
-34.12+ 0.00

. 90
L pl
3000:— __
2000:— _:
wob C = 29,31 [psich],, ]
: % T
TP delay [ns]

4000

3000

2000

TVC(cbch) (3,0,14

1000

- pD

pl

~rnuiLgyse+u4 | 25
4233+ 0.0
-36.2+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3)

e po

A7 1L bobe+ud /25
4200+ 0.0
-37.18+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 0,7

pO
pl

=1 i Bobe+u4 / 25
4237+ 0.0
-38.03+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (3, O

= pO

T auue+u4/25
4208+ 0.0
-34.82 + 0.00

pl

TP delay [ns]

TVC(C, bch) (3,0,15

T nui s1e+u4 [ 25
4217+ 0.0
-34.75+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

K™ 1nuiLoroe+ud /25
- po 4178+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (31,4

- 1z Ogae+u4 [ 25
o, pO 4199+ 0.0
pl -36.11 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 1,8

T4 re+u4 [ 25
= po 4189+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (31,12

~ L pyse+u4 / 25
= po 4212+ 0.0
pl -34.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1

AT 1L bsye+ud [ 25
o, po 4187+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 nuz.Uole+ud / 25
4188+ 0.0
-35.5 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 1,9

<1 nuiLgule+us / 25
pO 4195+ 0.0
p1 -36.22+ 0.00

TP delay [ns]

TVC(cbch) (3,1,13

T inai r8ye+ud [ 25
pO 4220+ 0.0
pl -36.78 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

K™ 1 nuiLguse+ud / 25
po 4179+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(cbch) (3,1,6

- a1 ye+04 [ 25
e pO 4206+ 0.0
[ pl -36.26+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

© g, ru4e+04 [ 25
- po 4194 0.0
L pl -35.03 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

TrnuiLbr1e+04 /25
-, pD 4208+ 0.0
L p1 -35.75+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

AT 1 nuz.usoe+ud [ 25

= po 4200+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

-1 nu.440e+04 / 25
- pO 4217+ 0.0
pL -36.68:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

- T s4e+u4/25
= po 4212+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (31,15

Tinai g rye+ud [ 25
4218+ 0.0
-35.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

A1

oove+u4 | 25
4168+ 0.0
-35.75+ 0.00

TP delay [ns]

TVC(cbch) (3,24

=/ nuig,

bBbe+u4 / 25
4176+ 0.0
-35.62+ 0.00

TP delay [ns]

TVC(ebioh)=(3, 2,8

E pD

p1

~1nuiL48pe+U4 / 25
4220+ 0.0
-35.74 + 0.00

TP delay [ns]

TVC(cbch) (3,2,12

A1,

14re+04 /25
4225+ 0.0
-35.55+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1)

= po

A1 L 0ase+U4 | 25
4189+ 0.0
-36.81% 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 2,5

Cnun1bre+ud [ 25
4201+ 0.0
-37+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 2,9

=3 pO

pl

- 1 u Joge+u4 [ 25
4233+ 0.0
-36.49+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 2 13

T nuiLagye+ud [ 25
4225+ 0.0
-35.85+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (3,2,2)

e, PO

A~ 1w b43e+04 [ 25
4194+ 0.0
-37.54+ 0.00

pl

TP delay [ns]

TVC(cbch) (32,6

ST,
pO
p1

1o5e+U4 / 25
4200+ 0.0
-36.46 + 0.00

TP delay [ns]

TVC(CbCh) (3, 2 10

F= "

T 1nuizpyle+ud | 25
4274+ 0.0
-38.29 + 0.00

pl

TP delay [ns]

TVC(cbch) (3,214

~ 1L bo0e+U4 / 25
4218+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3)

e po

AT 1L r33e+U4 [ 25
4195+ 0.0
-37.25+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (3 2,7

pO
pl

- nui /z8e+u4 / 25
4206+ 0.0
-35.85+ 0.00

1
100

TP delay [ns]

TVC(eheh=(3, 2,

ERALIR que+u4/25
4267+ 0.0
-37.35+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 2 15

T nui oyse+ud [ 25
4233+ 0.0
-35.38 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0)

AT nun 3rse+ud /25
4188+ 0.0
-35.81+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,34

- 1 148e+04 / 25
= pO 4209+ 0.0
p1 -34.31% 0.00

[ C =29.14 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

1 nuiLYode+u4 | 25
= pO 4211+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (3,312

~rnuiLb44e+04 / 25
pO 4231+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,3,1)

AT rnuiLsiie+ud /25
P, po 4196+ 0.0
pl -36.63+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

=1 nuiL 430e+04 / 25
- pO 4222+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

T nu g38e+u4 25
= po 4220+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(C, bch) (3,313

~ 1 nuivbze+ud [ 25
pO 4232+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000
3000

2000

TVC(cbch) (3,3,2)

AT 1nuisyie+u4 /25
- po 4213+ 0.0
o pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

- rnuiL312e+04 [ 25
- pO 4231 0.0
[ pl -35.67 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

T z.37e+04 /25
4249+ 0.0
-35.7 + 0.0

TP delay [ns]

TVC(cbch) (3,314

1000

T i b4ze+04 [ 25
4215+ 0.0
-36.01+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

x- 1 i Zoae+U4 | 25
P, po 4212+ 0.0
p1 -34.64 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

-1 nui 4p9e+04 / 25
pO 4248+ 0.0
p1 -34.69+ 0.00

[ C =28.83 [ps/ch] ]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 3

T asze+u4/25
= po 4250+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(C, bch) (3,315

T inai71ve+u4 /25
= pO 4237+ 0.0
p1 -36.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0)

A7 1 nui syye+ud / 25
4192+ 0.0
-36.81+ 0.00

TP delay [ns]

TVC(cbch) (34,4

- 1 i ba0e+04 / 25
- pO 4227+ 0.0
pl -36.18:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 4,8

T rnuig.b1oe+u4 / 25
= po 4210+ 0.0
p1 -34.44 + 0.00

TP delay [ns]

TVC(cbch) (3,4,12

1L pobe+u4 / 25
= po 4235+ 0.0
p1 -36.6 + 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1

AT 1 nuiLbyse+ud /25
pee,, po 4189+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

=11 bbae+u4 / 25
- pO 4231% 0.0
pL -36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

T inup.15/e+u4 /25
4229+ 0.0
-35+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,4,13

TinuiLgs/e+ud [ 25
— 4222+ 0.0
-37.41+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (3,4,2)

A7 1nui rzye+04 /25
- po 4185+ 0.0
L pl -35.9+ 0.0

3000

TP delay [ns]

TVC(cbch) (34,6

-1 i Bage+u4 / 25
- pO 4240+ 0.0
[ pl -37.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

T nuzg33e+u4 [ 25
. po 4239+ 0.0
- pl -35.92+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,4,14

T L p3be+u4 / 25
4221+ 0.0
-37.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3

AT L sase+ud [ 25
oes, po 4205+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

- nun gBe+u4 / 25
- pO 4247+ 0.0
pL -36.08:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 4

T, uye+u4125
e pO 4244+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(C, bch) (34,15

Tinan 1 54e+04 /25
- po 4225+ 0.0
p1 -36.24 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

AT nun 3rse+ud /25
Frcea. po 4201+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (3,54

- 1 nurL 3obe+u4 / 25
. pO 4213+ 0.0
p1 -35.47+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 58

©1nuig.gu4e+u4 [ 25
- po 4239+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (3,5,12

1L pyse+u4 / 25
e po 4293+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

AT 1nuiLgo/e+u4 [ 25
I e po 4227+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

“nuibr1e+u4 [ 25
4202+ 0.0
-34.8 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

~ 1 naizyae+ud [ 25
- po 4268+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(C, bch) (3,5,13

T inuiplse+ud / 25
e, pO 4281+ 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

A7 nun ssoe+u4 / 25
_l po 4231+ 0.0
- pl -36.01+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

-1 nuib39e+u4 [ 25
- pO 4206+ 0.0
X pl -34.49 + 0.00

TP delay [ns]

TVC(cbch) (3, 5 10

© 1 nuzpoye+ud | 25
_- DO 4283+ 0.0
- pl -35.05+ 0.00

- C = 28.53 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

TrnuiLs7e+u4 /25
- pD 4281+ 0.0
| pl -36.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,53)

T nun Lase+ud [ 25
s, pO 4239+ 0.0
pl -35.9+ 0.0

TP delay [ns]

TVC(c,b ch) (3 57

-1 nui buse+u4 / 25
- pO 4218+ 0.0
p1 -34.47 + 0.00

[ C =29.01 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

EEALEVX uuze+u4/25
- po 4288+ 0.0
p1 -35.14+ 0.00

[ C =28.45 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

<1 nui suse+u4 / 25
- pO 4294+ 0.0
p1 -37.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0)

T L4ae+04/25
.. pO 4174+ 0.0
p1 -34.28+ 0.00

TP delay [ns]

TVC(cbch) (36,4

-1 nui bb4e+04 / 25
- pO 4239+ 0.0
pl -36.83+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 6,8

Tz, ry1e+u4 | 25
- po 4228+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

i bove+u4 / 25
= po 4221+ 0.0
pl -35.25+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

K™ 1L 4rse+ud [ 25
- po 4186+ 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,5

“nui b roe+u4 [ 25
- pO 4255+ 0.0
pL -37.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T inun 4.09e+04 / 25
= po 4255+ 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,13

T nui soye+ud 25
pO 4232+ 0.0
pl -36.04 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,6,2)

K™ 1 nunosse+ud /25
- po 4202+ 0.0
o pl -35.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

- i by3e+u4 [ 25
- pO 4257+ 0.0
[ pl -37.03+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 6 10

1000

T inuiz1y1e+u4 [ 25
= po 4249+ 0.0
3 pl -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,6,14

~1nuiL4zoe+04 / 25
pD 4244+ 0.0
-36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

AT 1L 4yoe+ud [ 25
- po 4191+ 0.0
pl -34.72+ 0.00

TP delay [ns]

TVC(c,b ch) (3 6,7

-1 nui 3yle+u4 / 25
- pO 4260+ 0.0
pL -38.02:+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

T yaze+u4/25
= po 4263+ 0.0
pl -36.89 + 0.00

TP delay [ns]

TVC(C, bch) (3,6,15

T naisroe+ud [ 25
pO 4238+ 0.0
-35.74+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

AT inuiar1e+04 /25
.. po 4195+ 0.0
pl -35.29+ 0.00

TP delay [ns]

TVC(cbch) (3,7,

Tz ze+u4 [ 25
e, pO 4203+ 0.0
pl -35.50+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

©1nuizuLoe+u4 / 25
= po 4212+ 0.0
pl -37.18+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

L puze+u4 / 25
pO 4224+ 0.0
pl -34.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

A 1L rserud | 25
P, po 4199+ 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,5

-1 nui 3uYe+u4 / 25
4193+ 0.0
-34.9 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 7,9

T nun.B41e+04 / 25
po 4238+ 0.0
pl -36.67 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,13

T inui s14e+u4 / 25
== pO 4208+ 0.0
pl -35.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (3,7,2)

K™ 1nuiolse+ud /25
_- po 4215+ 0.0
L pl -36.2+ 0.0

3000

TP delay [ns]

TVC(cbch) (37,6

T L 3rze+04 [ 25
- pO 4211% 0.0
[ pl -35.99+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 7 10

Tz 3z3e+04 | 25
4254+ 0.0
-36.9+ 0.0

TP delay [ns]

TVC(cbch) (37,14

TrnuiLsyre+u4 [ 25
pD 4208+ 0.0
pl -34.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3

AT L4y re+ud [ 25
=3 po 4214+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

~nui4z/e+04 / 25
- pO 4224+ 0.0
pL -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

T g we+u4/25
4253+ 0.0
-37.1+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,7,15

T nuiqoze+u4 /25
- pO 4214+ 0.0
p1 -35.52+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

A7 nuin4se+04 /25
., po 4218+ 0.0
pl -37.46 + 0.00

TP delay [ns]

TVC(cbch) (38,4

= 1 i booe+ud / 25
pO 42214 0.0
p1 -35.44+ 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (3 8,8

T rnug.gs1e+u4 / 25
pO 4248+ 0.0
pl -38.38 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,812

T rule+u4 / 25
pO 4237+ 0.0
pl -36.29 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

X1 dzaerud | 25
- po 4196+ 0.0
pL -35.62.+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

~ 1 nui /45e+04 [ 25
pO 4208+ 0.0
pL -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

- 1rnuy.guset+u4 [ 25
po 4264+ 0.0
pl -37.71+ 0.00

TP delay [ns]

TVC(C, bch) (3,8,13

T nuiLoove+ud /25
pO 4233+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,8,2)

A7 1 nuiLbsye+ud /25
- po 4199+ 0.0
L pl -36.07 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

T nun149e+04 /25
- pO 4216+ 0.0
- pl -35.32 + 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

T 1nuigsz9e+04 [ 25
-, po 4270+ 0.0
- pl -38.09 + 0.00

3000

50 100

TP delay [ns]

TVC(cbch) (3,814

T 1ooe+ud /25
- pD 4231+ 0.0
[ p1 -36.48 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT rnuiLo1se+ud /25
- po 4228+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

- nui /38e+04 / 25
- pO 4237+ 0.0
pL -36.22:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

EREALER a/1e+u4/25
4274+ 0.0
-38.2+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (3,8,15

T inuiLoo/e+ud [ 25
= po 4241% 0.0
p1 -35.82+ 0.00

TP delay [ns]



TVC(c,b Ch) (3,9,0) TVC(c,b Ch) (3,9,1) TVC(c,b Ch) (3, 9 2) TVC(c,b Ch) (3,9,3)
A~ 1 i SUoe+U4 1 25 X~ 1L 50re+04 1 25 i Loerud 125 X~ 1 Sose+04 ] 25
4000 fmm,, po 4213+ 0.0 4000 fm,, po 4230+ 0.0 4000 fm pO 4229+ 0.0 4000 fos PO 4228+ 0.0
Pl 3558+ 0.00 Pl -36.09:+ 0.00 L Pl -35.84% 0.00 pl -35£ 0.0

3000

E 3000 - 3000 - 3000 B

2000 - 2000 = 2000 N 2000

1000 - 1000 = 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39,5 TVC(cbch) (39,6 TVC(c, bch) (39,7

-1 nuigbY4e+04 / 25 T 8rze+ud | 25 - rnunLgzze+u4 [ 25 ~ 1 nui 84ve+u4 / 25
4000 [, pO 4207+ 0.0 4000 Fem, pO 4214+ 0.0 4000 fe, pO 4230+ 0.0 4000 [ pO 4240+ 0.0
pl 3503+ 0.00 -36.1% 0.0 L Pl -35.99 0.00 -35.1% 0.0

3000 - 3000 - 3000} — 3000 B

2000 ] 2000 - 2000 : 2000 ]

w000~ C ] 1000 7] woo- C = 27.79 [ps/ch 7] 1000 ]

- - [ " ] -
- - - -
I I o I = I I I
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3, 9, 11)
T z.44e+04 /25 -1 nu.zy8e+u4 | 25 T rnuizz0/e+04 /25 - nuiz.z0se+u4 / 25
4000 o, pO 4214+ 0.0 4000 pO 4227+ 0.0 4000 fo DO 4247+ 0.0 4000 4254+ 0.0
pl -34.97 + 0.00 pl -35.55+ 0.00 F pl -34.95+ 0.00 -36+ 0.0

-1 3000

3000 N 3000 - 3000

2000 - 2000 2000 - 2000

1000 - 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(C, bch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

1 nuiLgooe+u4 / 25 T nui gbze+ud [ 25 T L g34e+u4 [ 25 T nuiLg1oe+ud [ 25
4000 e, pO 4269+ 0.0 4000 [, pO 4247+ 00 4000 o, PD 4254+ 0.0 4000 o, pO 4246+ 0.0
pl -36.6 + 0.0 pl -36.75+ 0.00 F pl -37.89 + 0.00 pl -37.02+ 0.00

- 3000

3000 .

— 3000 - 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,10,0)

e pO

pl

~rnuig7ae+04 /25
4217+ 0.0
37+ 0.0

TP delay

TVC(cbch) (3,104

pO
pL

[ns]

- bb1e+ud / 25
4204+ 0.0
-36.81+ 0.00

EN) 10‘0
TP delay

TVC(eb.ch)=(3, 10,8

e PO

[ns]

© iz, 1ise+ud | 25
4249+ 0.0
pL -36.98+ 0.00

TP delay

TVC(e,b.ch)=(3, 10, 12

E. o
p1

[ns]

- 1 byge+U4 | 25
4232+ 0.0
-35+ 0.0

TP delay

[ns]

TVC(ebch)=(3,10,1)

4000 7 PO

AT rnuLorse+ud [ 25
4220+ 0.0
p1 -37.98+ 0.00

3000

2000

1000

TP delay

TVC(c, bch) (3,10,5

4000 [ DO

pl

[ns]

“nun1.58e+04 [ 25
4211+ 0.0
-36.81+ 0.00

3000

2000 -

1000 C

50 1(;0
TP delay

TVC(c,b ch) (3,10,9

4000 faem PO

[ns]

-y 2 19e+Ud 1 25
4262+ 0.0
Pl -36.65+ 0.00

3000

2000

1000

TP delay

TVC(e.b.ch)=(3, 10, 13

4000 e,

[ns]

- nuiL syge+ud | 25
4232+ 0.0
-34.33+ 0.00

3000

2000

w0 C =29.13 [pS/Ch]

P |
=] 100

TP delay

[ns]

4000 (S
3000

2000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(cbch) (3,10,2)

- PO

X~ 1L bzze+U4 [ 25
4217+ 0.0
p1 -37.46 £ 0.00

TP delay

TVC(cbch) (3,10,6

pD
pl

[ns]

-1 nuibb3e+ud [ 25
4223+ 0.0
-36.64 + 0.00

TP delay

TVC(e,b.ch)=(3, 10, 10

F-. b

[ns]

T nuig,1ue+u4 / 25
4275+ 0.0
p1 -37.15+ 0.00

TP delay

TVC(e,b.eh)=(3, 10, 14

. b

[ns]

Srnu L 53e+u4 [ 25
4235+ 0.0
pl -35.21+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,10,3)

A- 1 L aZae+U4 | 25
4218+ 0.0
p1 -36.05+ 0.00

po

TP delay

TVC(c, bch) (3,10, 7

[ns]

-1 nui blye+ud / 25
4231+ 0.0
-38+ 0.0

50 1(;0
TP delay

TVC(cbeh)=(3, 10, 11

e, pO

[ns]

1 nuiLyyge+ud | 25
4273+ 0.0
-36+ 0.0

TP delay

TVC(e.b.ch)=(3, 10, 15

[ns]

-1 nuiLosze+u4 | 25
4223+ 0.0
p1 -35.62+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (3,11,0)

A7 1 nuiasye+ud / 25
4185+ 0.0
-36.81+ 0.00

5[‘) 100 E
TP delay [ns]
TVC(c,b ch) (3, 11 4)
- ~ Ui 3zZbe+04 / 25
ome. pO 4168+ 0.0
pl -35.31+ 0.00
e E
1 L -
50 100
TP delay [ns]
TVC(c,b, ch) (3, 11 8)
T rnug.zr4e+04 [ 25
- PD 4236+ 0.0
pl -36.53+ 0.00

TP delay

TVC(c,b Ch) (3 11,12

[ns]

X~ 1y 444e+04 [ 25
po 4216+ 0.0
pl -35.45+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (3,11,1)

. PO

A” 1 nuiLbuse+ud [ 25
4190+ 0.0
pl -35.73+ 0.00

TP delay

TVC(c,b Ch) (3, 11 5

[ns]

“nui s e+u4 [ 25
4173+ 0.0
-33.37 + 0.00

[ C =29.97 [ps/ch]

50 1(;0
TP delay

TVC(eh.eh)=(3, 11, 9

- po

[ns]

Tonai13e+u4 /25
4251% 0.0
pl -36.46 + 0.00

TP delay

TVC(c,b ch) (3, 11 13

pO

[ns]

T inui zose+ud [ 25
4200+ 0.0
pl -35.13+ 0.00

TP delay

[ns]

4000

3000
2000

1000

4000
3000
2000
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3000 -1 3000 - - 3000 N __ 3000 - -1
2000 E 2000 |- - 2000 ] 2000 T
n L n 1000 - L a
1000 wor C =28.92 [ps/ch]™,_ b 1 wor C = 28.89 [ps/ch]™,_
1 1 - 1 -
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,6,12 TVC(C, bch) (4,6,13 TVC(cbch) (4,614 TVC(C, bch) (4,6,15

~ L, r9pe+u4 / 25 T inair34e+04 / 25 T Lose+ud /25 Tonan 1 B4e+u4 [ 25
41000 o, PO 4234+ 0.0 4000 b, PO 4228+ 0.0 4000 - PD 4231+ 0.0 4000 po, PO 4237+ 0.0
pl -36.52+ 0.00 pl -36.48 + 0.00 r pl -36.88 + 0.00 pl -36.88 + 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch) (4,7,0 TVC(cbch) (4,7,1 TVC(cbch) (4,7,2) TVC(cbch) (4,7,3

A~ 1 519e+04 1 25 X~ 1 51ae+04 1 25 K~ 1 5s0e+0d 1 25 X~ 1L Suze+Ud ] 25
ao00pm po 4215+ 0.0 4000 fe,, po 4229+ 0.0 4000 fm PO 4234+ 0.0 4000 fr, PO 4252 0.0
Pl -35.26% 0.00 Pl -35.85% 0.00 [ PL_ -35.26% 0.00 Pl -35.78% 0.00
3000 - 3000 - 3000} ] 3000 -
[ . ]
2000 4 2000 - 2000 ] 2000 ]
1000 1 ] wool- C = 28.36 [ps/ch ] ]
- -
- ]
L L 1 Il 1 1
50 00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,7,4 TVC(cbch) (47, TVC(cbch) (4,7,6 TVC(c, bch) (4.7,

S 21/9+UA 125 “nar Z)/ZE+U4/25 “ g 2&$e+U4 125 T nar b)UzE+U4/25
4000 pO 42464 0.0 4000 o, pO 42481 0.0 4000 fm pO 4246% 0.0 4000 fr, pO 42541 0.0
Pl -35.36%0.00 Pl -3565% 000 [ Pl -35.88%0.00 Pl -35.58% 000
3000 ] 3000 - s000 ] 3000 | 4
2000 ] 2000 — 2000~ . 2000 ]
1000 ] 1000 ] woor- C = 27.87 [ps/ch ] woor C = 28.11 [ps/ch] 7
1 1 bl 1 -
50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (47,8 TVC(cbch) (47, TVC(cbch) (47,10 TVC(c, bch) (4,7,

) 9) ) 11)
~rnuzu41e+04 / 25 -1y buse+u4 [ 25 © 1 nuz,ubse+ud / 25 T i 4u1e+04 /25
4000 e pO 4224+ 0.0 4000 [ pO 4249+ 0.0 4000 [, DO 4271+ 0.0 4000, p0 4262+ 0.0
pl -36.44 + 0.00 pL -36.73+ 0.00 3 pl -36.53+ 0.00 pL -35.66+ 0.00

3000

. 3000 1 3000 - 3000 -1

2000 -1 2000 -1 2000 N 2000

1000 -1 1000

- 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(47l ) TVC(cbch)(4713) TVC(cbch)(47l ) TVC(cbch)(4715)
T L b3e+u4 / 25 T nuiLasse+ud [ 25 T zgse+u4 [ 25 Tinuiaroe+u4 /25
4000 pO 4269+ 0.0 4000 pO 4279£ 00 4000 fomm PD 4272+ 00 4000 fam, pO 4275£ 00
p1 -35.87 + 0.00 p1 -36.76 + 0.00 L pl -36.18+ 0.00 p1 -36.43 + 0.00

- 3000

3000 _ 3000 -1 3000 .

2000 ] 2000 - 2000 E 2000

1000 ] 1000 T 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,0

A~ 1 nui540e+04 /25
Fe po 4200+ 0.0
p1 -36.47 £ 0.00

TP delay [ns]

TVC(cbch) (4,84

- 1wz, Qyse+ud [ 25
po 4228+ 0.0
pl -35.77 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (4 8,8

- i Gsve+ud | 25
- po 4227+ 0.0
p1 -35.88:+ 0.00

TP delay [ns]

TVC(Cbch) (4, 8 12

T 1yae+ud /25
= po 4224+ 0.0
pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,81

A1 L 0ase+U4 | 25
Frase po 4208+ 0.0
pL -36.3+ 0.0

TP delay [ns]

TVC(c,b ch) (4 8,5

-1 nuz.uale+ud / 25
[Foees, pO 4218+ 0.0
pL -35.32.+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (4 8,9

T nuiL 138e+U5 / 25
- pO 4246+ 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(c,b Ch) (4, 8 13

T nuiLylye+ud / 25
= pO 4225+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,2)

- C = 28.26 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (4,86

X~ 1L 353e+04 [ 25
P, po 4212+ 0.0
N p1 -35.39+ 0.00

T, z34e+04 | 25
pO 4230+ 0.0
pl -34.87 + 0.00

TP delay [ns]

TVC(eb,oh)=(4, 8, 10

-1 3.40e+ud [ 25
E- pO 4267+ 0.0
L -36.1+ 0.0

TP delay [ns]

TVC(cbch) (4,814

-1 pS1e+u4 [ 25
- pD 4229+ 0.0
[ -34.49 £ 0.00

- C = 28.99 [ps/ch]

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,3

A1 nuiL3rze+ud [ 25
- po 4212+ 0.0
pL -35.62:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 8,7

-1 nu Zgoe+u4 [ 25
- pO 4243+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 8

T 9a5e+u4/25
- pO 4258+ 0.0
p1 -34.92 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 8 15

- i gobe+ud [ 25
e, pO 4242 0.0
p1 -36.17 + 0.00

TP delay [ns]



TVC(cbch) (4,9,0)

X~ 1L us1e+U4 /25
4000 [ po 4184+ 0.0
pL -32.78 + 0.00
3000 - 7
2000 - 7
w0 C = 30.51 [ps/ch] ™ 7
5[') 10'0
TP delay [ns]
TVC(cbch) (4,9.4)
= 1L usge+u4 / 25
4000 e po 4226+ 0.0
p1 -33.38 + 0.00
3000~ 7
2000 - 7
o C =29.96 [ps/ch] ™.
e o
TP delay [ns]
TVC(cbch) (4,9,8)
© 1 nuz,Quse+ud / 25
4000 [ pD 4206+ 0.0
p1 -32.83  0.00
3000~ 7
2000 - 7
wor C = 30.46 [ps/ch] ™ 7]
1 L -
s 50 100
TP delay [ns]
TVC(cbch) (4,9,12)
T szze+u4 [ 25
4000 fae, po 4253+ 0.0
pl -34.91+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,1)

E po

p1

A 1L uzse+ud | 25
4182+ 0.0
-32.79+ 0.00

[ C =30.50 [ps/ch]

L L i
50 100
TP delay [ns]

TVC(c,b ch) (4 9,5

“nuiLU3/e+u4 / 25
4222+ 0.0
-32.89 % 0.00

[ DO
pL
[ C =30.40 [ps/ch] ™ 7]
50 150
TP delay [ns]

TVC(c,b ch) (4 9,9

T nug g38e+u4 / 25
po 4229+ 0.0
p1 -34.25+ 0.

34.25 + 0.00

[ C =29.20 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (4, 9 13

- pO

T nui s30e+ud / 25
4253+ 0.0
-34.44+ 0.00

[ C =29.04 [ps/ch]

50

il
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (4,9,2)

K™ | U(‘Jeﬂ]m‘
-I'_ po 4197+ 0.0
[ pl -32.64 + 0.00
r C 30.64 [ps/ch] ™, ]
50 10'0
TP delay [ns]
TVC(cbch) (4,9,6)
~nui 1p8e+04 / 25
-, pO 4219+ 0.0
[ pl -34.47 :;‘
FC = 29.01 [ps/ch™., ]

50

1
100

TP delay [ns]

TVC(cbch) (4, 9 10

- iz, 195e+04 1 25
pO 4240 0.0
p1 -32.88:+ 0.00

- C =30.42 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (4,9,14

pD

pl

- 1 i z90e+04 [ 25
4263+ 0.0
-35.66 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,3)

e, po

pl

A~ 1 nuiLOuse+ud / 25
4202+ 0.0
-33+ 0.0

[ C=30.30 [ps/ch] ™ 7]
"
gé 160
TP delay [ns]

TVC(c,b ch) (4 9,7

- pO

-1 nui 3uze+u4 / 25
4232+ 0.0
-33.9+ 0.0

[ C =29.50 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (4, 9

T 4u4e+u4/25
- pO 4233+ 0.0
pl -33.07 + 0.00

[ C =30.24 [ps/ch]

_L
50

1
100

TP delay [ns]

TVC(c,b ch) (4, 9 15

- pO

- i syse+ud [ 25
4261% 0.0
-34.51+ 0.00

[ C =28.97 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (4, 10 0)

©ruizuuve+ud [ 25
pO 4202+ 0.0
pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (4,104

T zz9e+04 | 25
pO 4234+ 0.0
pl -36.98:+ 0.00

- C -1
% T
TP delay [ns]
TVC(c,b, ch) (4, 10 8

T, ro3e+U4 / 25
po 4234+ 0.0
-36.7 + 0.0

1
100

TP delay [ns]

TVC(cbch) (4,10,12

T L yzoe+u4 / 25
po 4244+ 0.0
pl -34.84+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,10,1)

AT 1 nuLyloe+ud /25
po 4205+ 0.0
p1 -36.42+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,10,5

-1 nu zzoe+u4 / 25
pO 4221+ 0.0
pL -36.81% 0.00

1(;0
TP delay [ns]

TVC(ebeh)=(4, 10,9

~ 1 nuiLyzze+us / 25
po 4270+ 0.0
p1 -38.62 + 0.00

| =
100

TP delay [ns]

TVC(C, bch) (410,13

T inuigsae+ud [ 25
pO 4259+ 0.0
p1 -36.2+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (4, 10 2)

T rse+ud [ 25
pO 4212+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (4,10,6

-1 nuz114e+04 / 25
pO 4235+ 0.0
pl -37.88+ 0.00

100
TP delay [ns]

TVC(cbch) (4, 10 10

T nuig,3ze+u4 [ 25
po 4275+ 0.0
pl -37.65+ 0.00

TP delay [ns]

TVC(cbch) (410,14

T b1ze+04 /25
pD 4258+ 0.0
pl -35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,10,3)

AT L yzse+ud [ 25
po 4217+ 0.0
pl -36.08 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (4,10,7

- 1nu bzae+04 [ 25
pO 4245 0.0
p1 -37.41% 0.00

100
TP delay [ns]

TVC(ehch)=(4, 10, 11

T nuiz 1gze+u4 [ 25
pO 4286+ 0.0
p1 -37.94+ 0.00

TP delay [ns]

TVC(cbch) (4,10,15

T inuiysse+ud [ 25
pO 4258+ 0.0
p1 -35.73+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4,11,0)

AT inuizsie+ud /25
po 4174+ 0.0
p1 -34.97 + 0.00

TP delay [ns]

TVC(cbch) (4,11,4

T 129e+04 / 25
e, pO 4205+ 0.0
p1 -36.42:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4,118

T 1L, robe+U4 / 25
- po 4210+ 0.0
pl -35.08 + 0.00

TP delay [ns]

TVC(cbch) (411,12

T rnuiL410e+04 / 25
= po 4226+ 0.0
pl -34.97 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,11,1)

AT 1 nunLiyze+ud [ 25
P e po 4174+ 0.0
p1 352+ 0.0

TP delay [ns]

TVC(cbch) (4,11,5

“nu1/8e+u4 [ 25
- pO 4220 0.0
pL -36.69+ 0.00

TP delay [ns]

TVC(eh.eh)=(4, 11, 9

T nu.azbe+u4 [ 25
- pO 4246+ 0.0
-35.9 + 0.0

1
50 100

TP delay [ns]

TVC(c, bch) (411,13

T suze+u4 [ 25
- po 4246+ 0.0
pl  -36.12+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (4, 11 2)

~rnuiL1yoe+u4 / 25
e, pO 4189+ 0.0
L pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,11,6

1000

-1 nuz z8be+04 [ 25
- pO 4217+ 0.0
[ pl -36.29+ 0.00

TP delay [ns]

TVC(e.bch)=(4, 11, 10

1000

0

X~ 1 nuiz.az9e+04 | 25
-, po 4252+ 0.0
- pl -36.98 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X~ 1 a83e+04 [ 25
__ po 4246+ 0.0
L pl -36.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,11,3)

AT 1 nuiLzase+ud [ 25
oes, po 4202+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(cbch) (4,11,7

-1 nui ygze+u4 / 25
- pO 4226+ 0.0
pL -36.05+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (4, 11 11

T nuiLas/e+ud [ 25
- pO 4262+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (4,11,15)

Tonan g sbe+ud [ 25
4236+ 0.0
-35.91+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4,12,0)

1 nu s39e+u4 [ 25

e p; " 4200+ 0.0
-34.38+ 0.00
[ C =29.08 [ps/ch] ]
1 L i
50 100
TP delay [ns]
TVC(c,b ch) (4, 12 4)
~ Uil 444e+04 / 25
F po 4208+ 0.0
pl -34.75+ 0.00

- c =
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (4, 12 8)
-1 BUse+u4 / 25
= po 4228+ 0.0
pl -34.89+ 0.00

TP delay [ns]

TVC(Cbch) (4, 12 12

- s1ierud /25
= po 4217+ 0.0
-34.14 + 0.00

[ C =29.29 [ps/ch]

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,12,1)

k. po

p1

AT 1 nuiL1/oe+u4 /25
4202+ 0.0
-35.02+ 0.00

L 1
50 100

TP delay [ns]

TVC(c,b Ch) (4, 12 5

=i b3be+u4 [ 25
4221+ 0.0
-35.17 + 0.00

TP delay [ns]

TVCebeh)=(4, 12,9

X1,

B po
pl

140e+u4 | 25

4229+ 0.0
-33.62+ 0.00

[ C =29.74 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (4, 12 13

- pO

T nai suze+ud 25
4213+ 0.0
-34.83+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

TVC(CbCh) (4,12,2)

1000

- o

A1 syse+ud [ 25
4226+ 0.0
p1 -36.33+ 0.00

TP delay

TVC(Cbch) (4, 12 6

- b

pl

[ns]

T b /1e+u4 / 25
4225+ 0.0
-35.81+ 0.00

TP delay

TVC(ebeh)=(4, 12, 10

[ns]

- 11U 584e+04 [ 25
4262+ 0.0
-34.45+ 0.00

4000 [, DO
[ pl
3000:— 7
2000 -— _-
wor C =29.03 [ps/ch] ™, 7]
1 L -
o 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(CbCh) (4, 12 14

= "

~ 1 nuiL4yse+u4 [ 25
4219+ 0.0
pl -35.67 + 0.00

TP delay

[ns]

TVC(Cbch) (4,12,3)

A~ 1 nuiL,s9se+ud [ 25
4222+ 0.0
pL -36.41+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c,b Ch) (4, 12 7

4000 e, PO

[ns]

-1 nui glye+ud / 25
4240+ 0.0
p1 -35.36+ 0.00

3000 -

2000 -

woor C = 28.28 [ps/ch

TP delay

TVC(C, bch) (412,11

4000 e, pO

pl

[ns]

T inuiz.uz/e+ud [ 25
4254+ 0.0
-34.31+ 0.00

3000 -

2000 -

00 C = 29.15 [ps/ch]

1
50 00

TP delay

TVC(cbch) (4, 12 15

4000 [u.

[ns]

Tinusiie+rud /25
4222+ 0.0
p1 -34.75+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (4, 13 0)

Tz z9ve+u4 | 25
- pO 4205+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (4,134

-1 z85e+04 | 25
e pO 4214+ 0.0
pl -36.54 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 13 8

1 nuiLgyse+u4 / 25
- po 4233+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(cbch) (4,13,12

~rnuiLquse+ud / 25
= po 4238+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (4,13,1)

e, po

p1

AT 1nuzzlie+ud | 25
4213+ 0.0
-35.96 + 0.00

TP delay [ns]

TVC(c, bch) (4,135

pO
pl

-1 nui4z5e+04 [ 25
4233+ 0.0
-36.71+ 0.00

TP delay [ns]

TVCebeh)=(4, 13,9

= po

T nup.yzie+ud / 25
4246+ 0.0
-36.14+ 0.00

pl

TP delay [ns]

TVC(C, bch) (413,13

T inuin33e+ud [ 25
4234+ 0.0
-35.62+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (4,13,2)

AT 1nugz1se+04 /25
_=_ po 4201+ 0.0
L pl -35.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,136

-1 z243e+04 [ 25
- pO 4205+ 0.0
[ pl -35.14 + 0.00

TP delay [ns]

TVC(cbch) (4, 13 10

1000

0

T rnuizy4re+u4 | 25
-, po 4280+ 0.0
- pl -37.49 + 0.00

TP delay [ns]

TVC(cbch) (413,14

T pare+ud /25
- pD 4243+ 0.0
L pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (4,13,3)

AT 27
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- pO 4186+ 0.0
pl -36.87:+ 0.00

TP delay [ns]

TVC(cbch) (5 58

4000

3000

2000

1000

0

~1nug.480e+04 / 25
4239+ 0.0
-37.51+ 0.00

0

TP delay [ns]

TVC(cbch) (55,12

4000

3000

2000

1000

T L pase+u4 / 25
pO 4229+ 0.0
pl -35.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5, 1

A1 L Sa4e+U4 | 25
- po 4190+ 0.0
pL -38.02.+ 0.00

TP delay [ns]

TVC(c,b ch) (5 55

-1 330e+04 / 25
- pO 4190+ 0.0
pL -37.01% 0.00

TP delay [ns]

TVC(c,b ch) (5 59

T nu.zbze+ud [ 25
- pO 4264+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(C, bch) (5,5,13

T inai zzge+ud | 25
= pO 4228+ 0.0
pl -34.78 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (5,5,2)

K™ 1 nuidoze+04 /25
i po 4203+ 0.0
L pl -37.02+ 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

T rnun 1 38e+u4 [ 25
- pO 4202+ 0.0
[ pl -36.27 + 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

1000

0

T 1nuzp34e+ud [ 25
-, po 4270+ 0.0
- pl -37.18+ 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

T L bise+u4 / 25
4240+ 0.0
-36.01+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

AT rnuiLozse+ud [ 25
poee, po 4208+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(c,b ch) (5 57

- 1nui broe+ud / 25
e, pO 4206+ 0.0
pL -36.22:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 5

T, 1/::e+u4/25
- po 4266+ 0.0
pl -37.16 + 0.00

TP delay [ns]

TVC(C, bch) (5,5,15

Tnai srse+ud [ 25
= po 4229+ 0.0
p1 35+ 0.0

TP delay [ns]



TVC(eb.ch)=(5,6,0) TVC(eb.ch)=(5,6, 1) TVC(eb.ch)=(5,6,2) TVC(eD.ch)=(5,6,3)
X~ 1 L dsoe+0d [ 25 X~ dzie+ud ] 25 “rw Lsue+ud | 25 A" rse+ud | 25
4000 po 41812 0.0 4000 po 4197+ 0.0 4000 po 4211+ 0.0 4000 po 4214+ 0.0
pl -37.7+ 0.0 pL -38.4+ 0.0 [ pl 3852 0.00 pl_ -37.88% 0.00

3000 - 1 3000 - -1 3000

-1 3000

2000 f~ N 2000 - -1 2000 -1 2000

=1 1000 [~

wol- C = 26.53 [ps/c . wol- C = 26.04 [ps/c .

0 [l
50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

L=
50 100

TVC(cbch) (56,4 TVC(cbch) (5.6, TVC(cbch) (56,6 TVC(c, bch) (5.6,

S, A)AleﬂJA 125 Tnu, 2¢ﬂe+04/25 T, 2/6e+u4 125 T nar 2bbe+l)4/25
4000, pO 4195+ 0.0 4000 fom, pO 4188+ 0.0 4000 e, pO 4195 0.0 4000 o, pO 4205+ 0.0
pl -37.21% 0.00 Pl -37.18% 0.00 3 pl -37.17+ 0.00 Pl -36.48% 0.00
3000 - 3000 =1 3000 =1 3000 -
2000~ E 2000 E 2000~ E 2000 E
woo- C = 26.87 [ps/c ] 1000 ] woo- C = 26.90 [ps/c 7] 1000 C ]
- [ - ] -
1 1 - 1 1 - 1 , =
0 EY 00 0 0 50 00 0 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 6,8 TVC(cbch) (5 6,9 TVC(cbch) (5, 6 10 TVC(cbch) (5, 6

T rnuizUore+u4 | 25 ~ i nuigbyle+ud [ 25 1 nuiz.490e+u4 | 25 Sonaeog ye+u4/25
4000 PD 4216+ 0.0 4000 b, DO 4224+ 0.0 4000 - DO 4242+ 0.0 4000 fom, pO 4245+ 0.0
pl -36.15+ 0.00 pl -36.23 + 0.00 r pl -36.88 + 0.00 pl -36.15+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 E 2000 E 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

0

TVC(cbch) (5,6,12 TVC(C, bch) (5,6,13 TVC(cbch) (56,14 TVC(C, bch) (5.6, 15

T roze+u4 / 25 Tonan g oe+ud [ 25 ~ 1L byse+u4 [ 25 T nui ozye+ud [ 25
4000 PO 4233+ 0.0 4000 g, PO 4222+ 0.0 4000 - PD 4211+ 0.0 4000 PO 4229+ 0.0
pl -36.23+ 0.00 pl -36.29+ 0.00 r pl -35.89+ 0.00 pl -35.99+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 - 2000 -1 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,7,0

A7 1 nuizuae+u4 /25
.. po 4199+ 0.0
pl -36.38+ 0.00

TP delay [ns]

TVC(cbch) (57,4

-1 b34e+04 / 25
4211+ 0.0
-37.1+ 0.0

TP delay [ns]

TVC(cbch) (5 7,8

T 3.ve+ud /25
- pO 4224+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(cbch) (57,12

T4 e+04 /25
= po 4249+ 0.0
pl -35.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (57,1

A7 1L bsbe+ud /25
. po 4213+ 0.0
pl -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,5

-1 nu 3z8e+u4 [ 25
pO 4213+ 0.0
pL -36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (5 7,9

T nai1roe+u4 /25
po 4256+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(C, bch) (5.7,13

-1 nuiLqp0e+ud / 25
pO 4253+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (5.7,2)

K™ 1 nuioyye+ud / 25
=, po 4205+ 0.0
- pl -36.39+ 0.00

3000

TP delay [ns]

TVC(cbch) (57,6

1000

- i, 78oe+u4 [ 25
- pO 4219+ 0.0
[ pl -36.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 7 10

T, foze+u4 | 25
= po 4253+ 0.0
- pl -36.03 + 0.00

3000

TP delay [ns]

TVC(cbch) (57,14

T sze+ud /25
pD 4253+ 0.0
pl -35.49+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,7,3

AT 1L buse+ud /25
=3 po 4224+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (5 7,7

-1 nui bbae+u4 [ 25
- pO 4230+ 0.0
pL -35.31% 0.00

TP delay [ns]

TVC(c,b ch) (5, 7

EEALEVX u/ue+u4/25
4256+ 0.0
-36.8 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (57,15

Tnuisy/e+ud [ 25
- pO 4254+ 0.0
-35.31+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0

X~ 1L urse+u4 /25
[, po 4212+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (58,4

T U4 /e+u4 [ 25
- pO 4192+ 0.0
pl -34.84  0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

© i Zh/e+04 [ 25
- PD 4223+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (5,812

Tz roe+ud [ 25
[ pO 4262+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

A~ 1 nuiLUbbe+u4 / 25
e, PO 4196+ 0.0
pl -35.1+ 0.0

TP delay [ns]

TVC(c,b ch) (5 8,5

S nun1.29e+04 [ 25
- DU 4196+ 0.0
pL -36.33 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

~ 1 nug.ygoe+ud 25
4250+ 0.0
-36.9 + 0.0

TP delay [ns]

TVC(C, bch) (5,813

T 1w 409e+04 [ 25
= pO 4267+ 0.0
pl -36.45 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

X~ 1w 1sve+U4 [ 25
- po 4199 0.0
I pl -35.47 + 0.00

3000

TP delay [ns]

TVC(cbch) (58,6

T rnuLzy/e+u4 [ 25
- pO 4220+ 0.0
I pl -35.64+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

1z z0ve+u4 | 25
4262+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(cbch) (5,814

-1 1ize+ud /25
[ PD 4248+ 0.0
L -34.59 + 0.00

- C = 28.91 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3)

AT 1nuiLs1ze+u4 [ 25
PO 4228+ 0.0
p1 -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

-1 nu Zoge+u4 [ 25
PO 42141 0.0
pL -35.22.+ 0.00

TVC(c,b ch) (5, 8

TP delay [ns]

SRR /aze+u4/25
pO 4275+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(C, bch) (5,815

- rnuiLulle+ud [ 25
pO 4238+ 0.0
pl -34.98 + 0.00

TP delay [ns]



TVE(ED.Ch)=(5,9,0) TVE(EDCh)=(5,9, 1) TVC(ED.Ch)=(5,9, 2) TVEEDe)=(5,9, 3)
A™ 1L zooe+u4 [ 25 A” 1 18ye+ud / 25 A” 1L z4ye+04 [ 25 A~ zise+ud | 25
4000 fe,, po 4229+ 0.0 4000 fmm,, po 4227+ 0.0 4000 fm, po 4232+ 0.0 4000 e, po 4252+ 0.0
pl -36.64 + 0.00 pl -36.73+ 0.00 r pl -36.94 + 0.00 pl -37.22+ 0.00

3000

-1 3000 =1 3000 =1 3000 -1

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

0, 0, 1 0, L 1 1 -F ] 0,
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (5,9,4) TVC(cbch) (5,9,5) TVC(cbch) (5,9,6) TVC(cbch) (5.9,7)

T i 1.48e+04 /25 ~ 1 nui 24 /e+04 [ 25 ~ i, 7obe+u4 / 25 -1 nuibbre+u4 [ 25
4000 e pO 42141 00 4000 pO 4222+ 0.0 4000 fe, pO 4243+ 0.0 4000 e, pO 4250+ 0.0
Pl -36.57+0.00 Pl -36.02% 0.00 r pl 3741+ 0.00 Pl -37.28% 0.00

3000 [ B 3000 — 3000 — — 3000 B

2000~ B 2000 E 2000 — — 2000 [ e

1000 C - 1000 - 1000:— C=26.73 [pS/C — 1000 C -

0 EY o 0 EY 0 . 0 5 T =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (59,8) TVC(c,b ch) (5.9,9) TVC(c,b, ch) (5,9,10) TVC(c,b ch) (59,11)

-~ 1 nuz,ugoe+ud / 25 T, yz4e+u4 [ 25 Tnu sz e+u4 [ 25 T b3re+u4 /25
4000 pO 4218+ 0.0 4000 4238+ 0.0 4000 o DO 4239+ 0.0 4000 o, 4247+ 0.0
pl 35+ 0.0 -34.51% 0.00 L Pl 3363+ 0.00 -34.53+ 0.00

3000 B 3000 - 3000 ] 3000 E

2000 1 2000 — 2000 ] 2000 1

1 wob C = 28.97 [ps/ch]™,_ 1 wol C = 29.73 [ps/ch] ™. 1 wob C = 28.96 [ps/ch]™., 1

1 1 - [ 1 1 ~- 1 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(591 ) TVC(cbch)(5913) TVC(cbch)(591 ) TVC(cbch)(5915)

~ 1 nuiL440e+04 / 25 T 1w Zoye+u4 [ 25 T 1zze+04 [ 25 - i zgle+u4 / 25
4000 e pO 4243 0.0 4000 [ pO 4244 0.0 4000 4228+ 0.0 4000 e, pO 4248+ 00
pl -35.96 + 0.00 pl -36.23+ 0.00 r -34.21+ 0.00 pl -35.53+ 0.00

3000 B 3000 — 3000 - 3000 E

2000 -1 2000 2000 - 2000

1000 1 1000 1000

wol C = 29.23 [ps/ch]™, 7

PR IR SRR |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(cbch) (5.10,0)

TrnuiLgzoie+ud [ 25
4159+ 0.0
pl -35.32 0.00

TP delay [ns]

TVC(cbch) (5.10,4

- z5se+04 [ 25
4211+ 0.0
pl -35.29 + 0.00

TP delay

TVC(cbch) (5, 10 8

= pD

[ns]

T, 3z3e+04 | 25
4219+ 0.0
pl -36.41+ 0.00

TP delay

TVC(cbch) (5,10, 12

[ns]

TinuiLgyle+ud / 25
4248+ 0.0
pl -36.58 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,10,1)

=, po

AT 1L zvye+ud [ 25
4185+ 0.0
-35.17 + 0.00

pl

TP delay [ns]

TVC(c, bch) (5,10,5

Snun1.73e+04 [ 25
- DU 4205+ 0.0
pL -35.09 + 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (5, 10

== pO

T nayz3ze+u4 [ 25
4240+ 0.0
-36.43 + 0.00

pl

TP delay [ns]

TVC(cbch) (510,13

T nui ssBe+ud / 25
4257+ 0.0
-36.12+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000
3000
2000

1000

1000

TVC(cbch) (5,10,2)

- po

K™ 1nun g 1oe+ud [ 25
4179+ 0.0
pl -34.95 + 0.00

TP delay

TVC(cbch) (5.10,6

[ns]

-1 34ze+04 [ 25
4227+ 0.0
pl -36.59 + 0.00

- pO
- C = 27.33 [ps/ch .
5(‘) 10‘0 =
TP delay [ns]

TVC(cbch) (5, 10 10

1000

0

- DO

- o3 10e+u4 / 25
4266+ 0.0
pl -37.34 + 0.00

TP delay

TVC(cbch) (5.10, 14

pD

[ns]

T i 1v4e+u4 [ 25
4250+ 0.0
pl -36.23 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,10,3)

= pO

AT 1L syze+ud [ 25
4185+ 0.0
-35.3+ 0.0

pl

TP delay

TVC(c, bch) (5,10, 7

[, pO

[ns]

- nui Use+u4 / 25
4233+ 0.0
pl -35.74 % 0.00

TP delay

TVC(cbch) (5, 10 1

e, pO

[ns]

T nuz 133e+u4 / 25
4258+ 0.0
pl -35.91+ 0.00

TP delay

TVC(cbch) (5.10,15

e, pO

[ns]

T 1yre+u4 [ 25
4230+ 0.0
pl -35.76 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

[ C =29.69 [ps/ch]

K™ 1nuiayze+u4 /25
.. po 4165+ 0.0
-33.68+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (511,4

- i 3y1e+u4 / 25
- pO 4226+ 0.0
pl -35.55+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

©1nuiz.444e+04 | 25
- pO 4224+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 12

X1 sz/e+04 /25
= po 4237+ 0.0
pl -36.69 + 0.00

TP delay [ns]

TVC(Cbch) (5,11,1)

4000 [ po

p1

AT 1 nunLioe+ud [ 25
4178+ 0.0
-33.55+ 0.00

3000

2000 -

ol C = 29.81 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (5 11,5

4000 fm, pO

[ns]

- 1L 4uBe+U4 | 25
4217+ 0.0
pl -36.03+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (5, 11 9

4000

[ns]

-1 nuw.pbze+u4 [ 25
4244+ 0.0
-35.5+ 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (511,13

4000 e ,,0

[ns]

)

- o1 43e+04 [ 25
4235+ 0.0
p1 -36.77 + 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(CbCh) (5,11, 2)

- C = 30.01 [ps/ch]

A~ 1nuiLuloe+ud /25
) po 4185+ 0.0
o pl -33.33+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (511,6

- b13e+u4 / 25
pe, pO 4237+ 0.0
[ pl -36.94 + 0.00

TP delay [ns]

TVC(cbch) (5,11, 10

X~ 1 nuiLy3be+u4 [ 25
4250+ 0.0
-35.1+ 0.0

TP delay [ns]

TVC(cbch) (5,11, 14

X~ 1 suse+u4 [ 25
- po 4227+ 0.0
L pl -35.46 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,3)

o po

AT 1 nuiLuze+ud [ 25
4184+ 0.0
pl -33.22+ 0.00

[ C =30.10 [ps/ch] ». 7
8 .
TP delay [ns]

TVC(cbch) (511,7

- pO

- nun by /e+u4 / 25
4250+ 0.0
pl -36.56 + 0.00

TP delay

TVC(cbch) (511,11

e pO

[ns]

<1 nui p4ze+u4 [ 25
4252+ 0.0
pl -35.85+ 0.00

TP delay

TVC(cbch) (5,11, 15

[ns]

T nai zoge+ud [ 25
4224+ 0.0
p1 -35.38 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(CbCh) (5, 12 0)

Ty zoe+ud /25
P pO 4182+ 0.0
p1 -34.76 + 0.00

TP delay [ns]

TVC(cbch) (5.12,4

T 3/9e+u4 / 25
[, PO 4203+ 0.0
pl -36.97 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 8

T rnuiLyse+u4 [ 25
= po 4199+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(cbch) (512,12

T 1 ooe+ud /25
pO 4214+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(chh) (5,12,1)

3000

2000

1000

AT 1nun L ibe+ud [ 25
4000 [, po 4217+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (5,125

4000 S

3000

2000 -

1000 [~

=1 nui bbae+u4 [ 25
pO 4206+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVCEeDeh)=(5, 12,9

4000

3000 -

2000 -

1000 [~

~ 1 nug s8Ye+u4 / 25
= 4213+ 0.0
-36.6 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (512,13

4000 [,

3000

2000

1000

Tinaiaz/e+ud [ 25
- pO 4196+ 0.0
-35.61+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(CbCh) (5,12,2)

- C = 29.36 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,6

- i bzbe+u4 [ 25
- pO 4209+ 0.0
[ pl -36.31¢ 0.00

A7 nui isae+04 /25
__— po 4192+ 0.0
[ p1 -34.06 + 0.00

TP delay [ns]

TVC(cbch) (5, 12 10

Tzl (e+u4 [ 25
po 4240+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (5.12, 14

T rnuiLgsse+ud [ 25
pD 4199+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

AT 1 nuiL4zge+ud [ 25
o=, po 4195+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(c, bch) (5,127

-1 byge+u4 / 25
4220+ 0.0
-36.7 + 0.0

50 1(;0
TP delay [ns]

TVC(eheh)=(5, 12, 11

T nuiz 1pYe+ud / 25
= po 4235+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(cbch) (512,15

- -1 nai buae+ud /25
po 4204+ 0.0
-35.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,13,0)

K™ se+u4 /25
o, PO 4291+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (5.13,4

-1 nui389e+04 / 25
[oese. PO 4229+ 0.0
pl -36.38 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

T rnuiLz4/e+04 [ 25
[Foane PD 4268+ 0.0
pl -34.21+ 0.00

[ C=29.23 [ps/ch] ™.

1
0 50 100

TP delay [ns]

TVC(cbch) (513,12

T i soze+u4 / 25
- po 4234+ 0.0
pl -35.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,13,1)

AT 1 nun 2z, fbe+ud [ 25
e po 4282+ 0.0
pl -37.13+ 0.00

TP delay [ns]

TVC(c, bch) (5.13,5

=1 nuiL 4n5e+04 / 25
[, pO 4217+ 0.0
pL -36.09 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

<1 nui, rgbe+u4 / 25
- po 4303+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (513,13

Tinaiz4/e+u4 /25
- pO 4238+ 0.0
-35.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(cbch) (5,13, 2

A1 suze+ud | 25
e, po 4298+ 0.0
: pl -37.56 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

- 110146 /€404 | 25
pO 4247+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 10

T ere+u4 [ 25
- po 4316+ 0.0
: pl -35.26 + 0.00

- C = 28.36 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.13, 14

T gsze+u4 [ 25
- pD 4243+ 0.0
| pl -35.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,13,3)

R 1 Ui oBae+U4 | 25
. po 4308+ 0.0
pL -36.72:+ 0.00

TP delay [ns]

TVC(c, bch) (5,137

-1 nui bole+ud / 25
- pO 4259+ 0.0
pL -37.33+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 13 11)

- pO

[ C =28.45 [ps/ch]

ut b8/8/25
4318+ 0.0
-35.15+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (513,15

Tinuibize+ud [ 25
- pO 4251+ 0.0
p1 -35.54 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

T g, use+ud / 25
4239+ 0.0
-36.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (5.14,4

T L3/ re+u4 [ 25
pO 4244+ 0.0
pl -36.22:+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 8

T rnuizyyre+u4 | 25
- pO 4204+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (514,12

TrnuiLyL/e+u4 /25
- po 4285+ 0.0
pl -37.45+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

AT rnus.1zse+ud [ 25
oane po 4233+ 0.0
pl -35.65+ 0.00

1 1
50 100

TP delay [ns]

TVC(c, bch) (5,145

- 11 3b4e+04 / 25
- pO 4256+ 0.0
37+ 0.0

TP delay [ns]

TVC(c, bch) (5, 14 9

T inup.741e+04 / 25
= po 4235+ 0.0
p1 -34.86 + 0.00

TP delay [ns]

TVC(cbch) (5.14,13

Tonany/le+ud [ 25
- pO 4270+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

TVC(CbCh) (5,14,2)

- C = 28.06 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (5.14,6

A7 1 nuis z44e+04 / 25
- po 4243+ 0.0
- pl -35.63+ 0.00

= 1 i bu8e+u4 / 25
- pO 4249+ 0.0
[ pl -35.91+ 0.00

TP delay [ns]

TVC(cbch) (5, 14 10

Tz zoze+u4 | 25
e, po 4237+ 0.0
o pl -34.76 + 0.00

TP delay [ns]

TVC(cbch) (5. 14,14

1000

T rnuiLgs1e+u4 / 25
- pD 4260+ 0.0
L pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,14,3)

AT 1 nus.sube+ud [ 25
— po 4235+ 0.0
p1 -34.89 + 0.00

TP delay [ns]

TVC(c, bch) (5,14, 7

-1 b3be+u4 / 25
- pO 4277+ 0.0
pL -36.08:+ 0.00

TP delay [ns]

TVC(cbch) (5,14, 11

T nuiz 115e+04 / 25
= pO 4235+ 0.0
p1 -34.68 + 0.00

TP delay [ns]

TVC(cbch) (514,15

T nui gze+ud [ 25
- pO 4263+ 0.0
p1 -35.93+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (5, 15 0)

© L puse+u4 / 25
Frcea pO 4198+ 0.0
pl -37.1£ 0.0

[ C =26.95 [ps/c ]

1
50 100

TP delay [ns]

TVC(cbch) (5.15,4

-1 nuiLazoe+u4 / 25
E pO 4194+ 0.0
p1 -35.76+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 15 8

1 nuz.408e+04 / 25
4221+ 0.0
-36.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5,15, 12

Tz rse+ud [ 25
4223+ 0.0
-34.71+ 0.00

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

A7 1 nuiLbb4e+U4 [ 25
Foase po 4184+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(cbch) (5,155

~ 1 nui 3b/e+04 [ 25
pO 4204+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(c, bch) (5, 15 9

T nun p.bye+ud [ 25
4246+ 0.0
-37.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5.15,13

Tinugzsie+ud [ 25
- pO 4224+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,15,2)

K™ 1 nui ruse+u4 /25
Freee po 4209+ 0.0
- pl -36.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (5.15,6

- i, r03e+u4 / 25
- pO 4217+ 0.0
[ pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

1000

0

©1nuiLgo3e+ud [ 25
= po 4244+ 0.0
L pl -36.63+ 0.00

TP delay [ns]

TVC(cbch) (5. 15, 14

T 1rnuiz410e+04 / 25
- pD 4232+ 0.0
[ p1 -37.53+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

AT 1L oyse+ud [ 25
= po 4211+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c, bch) (5,15, 7

- nui b31e+u4 / 25
- pO 4213+ 0.0
pL -35.91% 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (5, 15 1

<1 nuiL suse+u4 / 25
- pO 4254+ 0.0
-36.4 £ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5.15,15

T 1 nuiz.quse+ud [ 25
- po 4219+ 0.0
-35.31+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A7 nuiosye+ud /25
P s po 4149+ 0.0
p1 -34.05+ 0.00

TP delay [ns]

TVC(cbch) (60,4

- 2,60 /e+04 | 25
o, pO 4169+ 0.0
p1 -34.02 + 0.00

[ C =29.40 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

©nun 310e+u4 / 25
[oane PD 4176+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (6,0,12

Tz s1oe+u4 / 25
S po 4207+ 0.0
pl -35.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

AT 1 nunLruoe+ud [ 25
e po 4165+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 U Yoye+ud / 25
P pO 4180+ 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

TinuiLyr1e+us /25
E po 4196+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,13

Tonanz.33e+u4 [ 25
E pO 4203+ 0.0
pl -35.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.63 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

AT 1nuiozre+V4 /25
P e po 4170+ 0.0
L pl -34.93+ 0.00

- g O15e+04 / 25
Freee, pO 4197+ 0.0
L pl -35.79 + 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

1000

Ty 1z9e+04 | 25
3 po 4214+ 0.0
- pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

Tz zzae+04 | 25
E. pD 4198+ 0.0
L pl -35.13+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

AT 1L Baoe+u4 [ 25
s po 4185+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

- 1nug 132e+04 / 25
o, pO 4203+ 0.0
pL -34.78  0.00

[ C =28.75[ps/ch]

50 100
TP delay [ns]

TVC(c,b ch) (6, O

T, 4b‘Je+U4/25
£ po 4220+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

L
=]
5}

Tinuzzole+ud [ 25
4214+ 0.0
p1 -35.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0

K™ 1nuiolye+ud /25
o po 4174+ 0.0
p1 -36.9+ 0.0

[ C=27.10 [ps/c ]

TP delay [ns]

TVC(cbch) (6.1,4

T r4/e+04 [ 25
E pO 4176+ 0.0
p1 -34.25+ 0.00

TP delay [ns]

TVC(cbch) (6 1,8

~1nuizuLve+u4 / 25
P, po 4198+ 0.0
pl -34.63 + 0.00

TP delay [ns]

TVC(Cbch) (6, l 12

T 1 gye+ud /25
= po 4198+ 0.0
pl -35.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

A7 1 nuiLbs4e+u4 25

=_ po 4194+ 0.0
pL -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6,1,5

— —rnurzd//e+04/25
E po 4161% 0.0
p1 -35.27+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

-1 nuiL Ubse+us / 25
= pO 4231+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, l 13

— T nai guse+ud / 25
= pO 4192+ 0.0
p1 355+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,1,2)

A~ 1nuiLoure+ud /25
P, po 4210+ 0.0
L pl -37.9+ 0.0

- C = 26.39 [ps/c .

TP delay [ns]

TVC(cbch) (61,6

- 1nuig,u34e+04 / 25
- pO 4196+ 0.0
3 pl -36.07 + 0.00

TP delay [ns]

TVC(cbch) (6, 1 10

1 nuigpuye+u4 / 25
- po 4244+ 0.0
- pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (61,14

T L pse+u4 [ 25
= pD 4190+ 0.0
L p1 -35.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3

AT 1 nuiLbr4e+U4 [ 25

= po 4193+ 0.0
p1 -37.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

-1 nu boye+u4 / 25
- pO 4190+ 0.0
p1 -34.78+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

AL 5U4e+u4/25
= pO 4254+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 1 15

- Tonair31e+u4 /25
pO 4198+ 0.0
p1 -35.65+ 0.00

TP delay [ns]



TVC(cbch)(620) TVC(cbch)(621) TVC(cbch)(622) TVC(cbch)(623)
A™ 1 i gobe+u4 / 25 A~ 1 zyse+ud | 25 AT 1z 1bre+ud [ 25 A~ 1nwuiza1ye+ud | 25

4000 po 4199+ 0.0 400, PO 4209+ 0.0 4000 [Foee, po 4208+ 0.0 4000, PO 4212+ 0.0
pl -37.45+ 0.00 pl -36.06 + 0.00 F pl -35.42+ 0.00 pl -36.5+ 0.0

3000

7 3000 -1 3000 - - 3000

2000 2000 m 2000 . 2000

1000 1000 1000

wol C = 28.23 [ps/ch

—L L 1 Il ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (62,4 TVC(cbch) (62,5 TVC(cbch) (62,6 TVC(c, bch) (6,27

S rnaiz111e+u4 / 25 T 31ee+ud [ 25 T rnuz3e+04 [ 25 S nu 34e+04 [ 25
4000 g po 421400 4000, pO 4219+ 00 4000 e, PO 4234£ 00 4000 = pO 4249+ 0.0
pl -35.91+ 0.00 Pl -36.19% 0.00 3 pl -35.78 0.00 Pl -36.26% 0.00

3000 [ B 3000 E 3000~ E 3000 E

2000 E 2000 - 2000 [~ N 2000 7

1000(- - 1000 E w00~ C = 27.95 [pS/Ch b 1000 C E

- [ - 1 -
- - -
1 1 ! 1 1 bl 1 -
50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,2,8) TVC(ehe=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ehe)=(6, 2, 1)
T nu 331e+u4 / 25 -1 ybye+us / 25 Trnuzole+u4 /25 ~ 1. bage+u4 [ 25
4000 fome, pO 4220+ 0.0 4000 fae, pO 4263+ 0.0 4000 fome, DO 4264+ 0.0 4000 fs p0 4275+ 0.0
pl 3501 0.00 Pl -37.05: 000 [ 359+ 0.0 Pl -36.82+ 0.00

e 3000

3000 N 3000 - 3000 1

2000 - 2000 -1 2000 - 2000

1000 1000 - 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,2, 12 TVC(C, bch) (6,213 TVC(cbch) (6,2 14 TVC(C, bch) (62,15

©1nug z40e+04 / 25 T szze+u4 | 25 T 1nuz,uuLe+ud / 25 Snunzase+ud [ 25
4000 pO 4212+ 0.0 4000 pO 4238+ 0.0 4000 PD 4224+ 0.0 4000 4243+ 0.0
pl 34924000 Pl -36.64+0.00 [ Pl -35.38+0.00 -35.81+ 0.00

e 3000

3000 1 3000 - 3000 -1

2000 ] 2000 T 2000 - 2000

1000 1000

1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(ebeh)=(6,3,0) TVC(ebeh)=(6,3, 1) TVC(ebeh)=(6,3,2) TVC(ebeh)=(6,3,3)
X~ 1 L Saverud | 25 x- 1 L Syde+ud | 25 X1 LG e+Ud ] 25 1 L spe+ud [ 25
4000, LY 4195+ 0.0 4000, po 4201 0.0 4000, po 4213+ 0.0 4000 e, po 4216+ 0.0
pl -36.73 0.00 pL -36.96 + 0.00 [ pl 3678+ 000 pL -35.85 + 0.00

3000

- 3000 -1 3000 =1 3000 -

2000 - 2000 -1 2000 -1 2000

1000 1 1000 = 1000 =1 1000

TP delay [ns]

TVC(cbch) (63,4

TP delay [ns]

TVC(c,b ch) (6 3,5

TP delay [ns]

TVC(cbch) (63,6

TP delay [ns]

TVC(c,b ch) (6 3,7

T nuiLgb1e+04 / 25 -1 nurL Y48e+ud / 25 <1 nuiL 8obe+04 [ 25 - y1ye+ud [ 25
4000 pO 4229+ 0.0 4000 pO 4232+ 0.0 4000 e, pO 4237+ 0.0 4000 fas pO 4247+ 0.0
pl 375+ 0.0 Pl -36.463 0.00 [ PL_ -36.18% 0.00 Pl 3576000

- 3000 [~

3000 - T 3000 N 3000 .

= 2000~ - 2000 -

2000~ B 2000 ]
woo- C = 26.66 [ps/c ] 1000 1 w0l C = 27.64 [ps/ch . w00 C = 27.97 [ps/ch ]
0 EY 00 . 5 T . - EY 0 = 5 T =

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6 3,8 TVC(cbch) (6 3,9 TVC(cbch) (6, 3 10 TVC(cbch) (6, 3

T nuiLyrge+ud / 25 T b6y /e+u4 [ 25 T a4y /e+u4 [ 25 S zabe+u4/25
4000 fame, pO 4235+ 0.0 4000 fme pO 4253+ 0.0 4000 fome, DO 4282+ 0.0 4000 fe p0 4261+ 0.0
Pl -36.05: 0.00 Pl -35.49: 0.00 L PL_ -35.93% 0.00 Pl 3573000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (6,312

~1nuz,usze+u4 [ 25
- pO 4235+ 0.0
pl -35.73+ 0.00

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(C, bch) (63,13

T 1w yaqe+u4 [ 25
4223+ 0.0
-35.1+ 0.0

PR BRSNS |
50 100

TP delay [ns]

3000
2000

1000

4000

2000

1000

TP delay [ns]

TVC(cbch) (6,3 14

T nuiLy1oe+ud / 25
- pD 4225+ 0.0
F pl -36.18 + 0.00

3000

TP delay [ns]

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(C, bch) (63,15

Tz 139e+u4 [ 25
- po 42425 0.0
pl -36.42 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

A7 1 nui oyze+u4 /25
.. po 4198+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (6.4,4

Srnan1zZ1e+04 /25
e, pO 4186+ 0.0
pL -34.00  0.00

[ C =29.33 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T L Yse+u4 [ 25
= po 4189+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(cbch) (64,12

TrnuiLgsre+u4 [ 25
4222+ 0.0
-33.6 + 0.0

[C=29.76 [ps/ch] ™.

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT rnuiLozie+ud [ 25
P, po 4177+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

- nui 3rye+u4 [ 25
e pO 4185+ 0.0
p1 -34.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

T nugylae+ud [ 25
= po 4208+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(C, bch) (64,13

T nui sbe+ud / 25
4220+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

TP delay [ns]

TVC(cbch) (64,6

T Loze+ud /25
_- pO 4191+ 0.0
o pl -36.16+ 0.00

3000

©1nuiL4n4e+04 / 25
- pO 4188+ 0.0
- pl -35.33 + 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

T nuiLbroe+u4 [ 25
__ DO 4241+ 0.0
L pl -34.87 + 0.00

TP delay [ns]

TVC(cbch) (64,14

T rnuiLz43e+04 / 25
- pD 4228+ 0.0
5 -33.74+ 0.00

- C = 29.64 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT 1L sose+ud [ 25
.. po 4206+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

- nublie+ud / 25
4200+ 0.0
-34.9+ 0.0

TP delay [ns]

TVC(c,b ch) (6, 4

T 44ue+u4/25
== 4226+ 0.0
-33.89+ 0.00

[ C =29.51 [ps/ch] §

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

T nuiasse+ud [ 25
4225+ 0.0
-34.6 £ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

X~ 1 4yre+U4 /25
[Fones, PO 4203 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (65,4

T 3.48e+04 /25
Fome, pO 4198+ 0.0
pl -34.17 + 0.00

[ C =29.26 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

Tanuz14/e+04 /25
- pO 4217+ 0.0
pl 3579 0.00

TP delay [ns]

TVC(cbch) (65,12

T inuzusie+ud / 25
- pO 4226+ 0.0
pl -35.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

AT 1 nuiL 3Ye+u4 [ 25
[, po 4214+ 0.0
pl -35.68 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

-1 bube+ud [ 25
F DU 4195+ 0.0
Pl 3401 0.00

[ C =29.40 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

~ 1 nug.n3ve+ud / 25
- DO 4214+ 0.0
pl -35.26 + 0.00

TP delay [ns]

TVC(C, bch) (6,5,13

T nuiyzoe+ud [ 25
4249+ 0.0
-36.11 + 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,52)

TP delay [ns]

TVC(cbch) (6,56

X~ 1L sobe+U4 [ 25
Faase. po 4226+ 0.0
I pl -36.48 + 0.00

3000

T nug.Zz3e+04 [ 25
- pO 4209+ 0.0
L PL_ -34.15% 0.00

FC =29.29 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

©1nu gbse+u4 [ 25
- DO 4243+ 0.0
3 Pl 3567+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

~ 1 nuz,use+ud / 25
= PD 4222+ 0.0
I pl -35.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

R Szae+04 [ 25
[, PO 4211+ 0.0
pl -34.84 + 0.00

TP delay [ns]

TVC(c,b ch) (6 57

T 3yse+ud [ 25
- PO 4211£ 0.0
Pl 3507000

TP delay [ns]

TVC(c,b ch) (6, 5

ALV U‘Jbe+U4/25
- pO 4248+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(C, bch) (6,5,15

-1 z.00e+u4 25
- pO 42351 0.0
pl -36.08 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

A1 zz3e+04 /25
4198+ 0.0
-35.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6.6,4

- i 349e+04 [ 25
o, po 4182+ 0.0
pl -35.01+ 0.00

- C =
% o
TP delay [ns]
TVC(c,b ch) (6, 6 8

- 7sae+ud [ 25
pD 4218+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(cbch) (6,6,12

- i gz e+04 [ 25
po 4234+ 0.0
p1 -35.77+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1)

T 1sse+ud [ 25
e pO 4208+ 0.0
p1 -35.83 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

-1 nui 4n4e+04 [ 25
4208+ 0.0
-36.3 % 0.0

50 150
TP delay [ns]

TVC(c,b ch) (6 6,9

-5 /e+U4 ] 25
po 4249+ 0.0
pL -34.89+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 6 13

T nai rope+ud / 25
4227+ 0.0
-35.61+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,6,2)

A~ 1w 344e+04 [ 25
P po 4203+ 0.0
N p1 -35.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (66,6

- rnuiL419e+04 / 25
pO 4195+ 0.0
p1 -35.46 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 6, 10

1000

- iz 20 re+04 1 25
- pO 4260+ 0.0
[ pl -35.97+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,6,14

1 yZoe+u4 [ 25
-, pD 4224+ 0.0
L pl -35.47 £ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

A1 nuiL3rze+ud [ 25
po 4216+ 0.0
pL -35.42:+ 0.00

C =28.23 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

=1 nui 494e+04 / 25
4208+ 0.0
-35.9+ 0.0

50 160
TP delay [ns]

TVC(c,b ch) (6, 6

T 9a5e+u4/25
- pO 4257+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 6 15

-1 1 7ae+ud | 25
e po 4238+ 0.0
p1 -36.15 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0)

P, pO

pl

T L4ve+ud /25
4187+ 0.0
-35.46 + 0.00

TP delay [ns]

TVC(cbch) (67,4

pO
pL

- L y3ge+ud / 25
4199+ 0.0
-34.73+ 0.00

% T
TP delay [ns]
TVC(cbch) (6, 7 8
= po

.(81e+U4 | 25
4208+ 0.0
-35.96 + 0.00

TP delay [ns]

TVC(cbch) (6,7,12

e, po
p1

©rnuizuase+ud | 25
4255+ 0.0
-36.41+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1)

e, po

p1

A7 1L bbse+ud [ 25
4211+ 0.0
-36.67 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 nui go3e+u4 [ 25
4211+ 0.0
-35.3+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (6 7,9

e, po

pl

~ 1 nuiL Usze+us / 25
4227+ 0.0
-36.43 + 0.00

TP delay [ns]

TVC(C, bch) (67,13

T nuizyb/e+ud [ 25
4249+ 0.0
-37.19+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,7,2)

2 P

pl

A~ 1 nuioyre+ud /25
4217+ 0.0
-36.24 + 0.00

TP delay [ns]

TVC(cbch) (67,6

== po

p1

-1 nurLgbze+u4 [ 25
4218+ 0.0
-35.02 + 0.00

TP delay [ns]

TVC(cbch) (6, 7 10

1000

0

= o

1 nuzbope+u4 [ 25
4252+ 0.0
-37.1+ 0.0

pl

TP delay [ns]

TVC(cbch) (6,7, 14

A1z,

1000

F= pO
pl

ule+u4 / 25
4253+ 0.0
-36.51+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6,7,

per
po
pL

3

wiLbLse+ud / 25
4216+ 0.0
-35.52+ 0.00

TVC(c,b ch) (6 7,7

-
pO
pl

1
100

TP delay [ns]

wiz.u1ze+u4 / 25
4218+ 0.0
-34.51+ 0.00

[ C =28.98 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (6, ?

e po
pl

Toa oz 1e+u4/25
4261+ 0.0
-37.48 + 0.00

TP delay [ns]

TVC(c,b ch) (6,7,

X

= po

15

wiz,ugse+ud | 25
4262+ 0.0
-36.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0

K™ 1 nuiLgule+ud /25
- po 4183+ 0.0
p1 -34.92+ 0.00

TP delay [ns]

TVC(cbch) (6,84

- i bsge+ud [ 25
e, pO 4269+ 0.0
pl -38.91+ 0.00

50 10‘0 -
TP delay [ns]

TVC(cbch) (6 8,8

T 1pe+ud /25
= po 4212+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (6,812

T rnuiLploe+u4 / 25
= po 4222+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,1)

AT 1 nuiz lioe+ud [ 25
Foase po 4181+ 0.0
pl -34.77+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

L pO

1nu 316e+04 | 25

pl -37.71+ 0.00

4252+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,9

114 5ype+u4 | 25

- pO 4221 0.0
pL -34.59+ 0.00

TP delay [ns]

TVC(C, bch) (6,813

Tonan g 3ve+ud [ 25
- pO 4234+ 0.0
pl -36.15+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

- C = 28.53 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (68,6

AT 1nuLyrse+ud /25
_l'_ po 4205+ 0.0
- pl -35.05+ 0.00

-1 nui34ze+04 [ 25
- pO 4264+ 0.0
[ pl -38.21+ 0.00

TP delay [ns]

TVC(cbch) (6, 8 10

Tnugzrze+04 [ 25
- po 4254+ 0.0
- pl -35.28 + 0.00

TP delay [ns]

TVC(cbch) (6,814

- 1L bo0e+U4 / 25
. pD 4222+ 0.0
L pl -34.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

po

pl

AT 1L Bave+ud [ 25
4208+ 0.0
-35.76 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 8,7

P pO
pl

-1 U 0bBe+u4 / 25
4283+ 0.0
-37.95+ 0.00

100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

EEALEVX Ub‘Je+U4/25
4260+ 0.0
-35.04 + 0.00

pl

TP delay [ns]

TVC(C, bch) (6,815

Tinan 1 p4e+ud [ 25
4231+ 0.0
-35.16 + 0.00

1
100

TP delay [ns]



TVC(c,b Ch) (6,9,0) TVC(c,b Ch) (6,9,1) TVC(c,b Ch) (6,9,2) TVC(c,b Ch) (6,9,3)
A~ 1wz, Laze0d 1 25 XL 7 (e+04 1 25 K~ 1L, fyze+0d 1 25 x-S re+0a ] 25
4000, po 4213+ 0.0 4000 ., po 4219+ 0.0 4000 fm, PO 4237+ 0.0 4000 fo, PO 42412 0.0
Pl -36.62 0.00 Pl -35.83: 0.00 L PL_ -37.68% 0.00 Pl -37.16% 0.00

3000

E 3000 - 3000~ - 3000

2000 2000 2000 =1 2000

1000 1000 - - 1000

1000

50 0% 50 T00 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(6,9, 4) TVC(eb.eh)=(6,9,5) TVC(ebeh)=(6,9,6) TVC(eb.eh)=(6,9, 7)
1 62ae+04 25 - G35e+Ud 25 L, 752e+04 1 25 =i gose+ud /25
4000 fe, pO 4237+ 0.0 4000 pO 4250+ 0.0 4000 [, pO 4250+ 0.0 4000 o=, pO 4275+ 0.0
pl 3523+ 0.00 Pl -35.87+0.00 [ Pl -35.79 0.00 -36.8:+ 0.0
3000 E 3000 ° ] 3000 — - 3000 ]
2000 . 2000 4 2000 — _ 2000 ]
1000 ] 1000 ] wof C = 27.94 [ps/ch . 1000 ]
1 1 - 1 il L 1 1 - o 1 1 -
50 00 50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eheh)=(6,9,8) TVC(ebeh)=(6,9,9) TVC(ebeh)=(6, 9, 10) TVC(eb,o)=(6,9, 11)
T nu5oe+u4 [ 25 T b 45/e+04 [ 25 © 1 nu gYse+u4 [ 25 - 1z, ugbe+u4 / 25
4000 e pO 42215 00 4000 fen pO 4233+ 0.0 4000 [, DO 4260+ 0.0 4000 foe, p0 4271% 00
pL -35.11+ 0.00 Pl -35.94+ 0.00 3 pl -36.21% 0.00 -36.3+ 0.0

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 ] 1000 - 1000 — 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(691 ) TVC(cbch)(6913) TVC(Cbch)(691 ) TVC(cbch)(6915)
TinuiL41ye+u4 / 25 T syoe+u4 [ 25 T i p43e+u4 [ 25 T bzoe+u4 [ 25
4000 f, pO 42384 0.0 4000 4234% 00 4000 fe, PD 42495 00 4000 fam, pO 4258+ 0.0
pl -34.14+ 0.00 -35.31+ 0.00 r pl -36.67 + 0.00 pl -36.62 + 0.00
3000 | E 3000 — 3000 — 3000 E
2000k ] 2000 4 2000 — 2000 B

1000 - 1000 L —- 1000 -1
woor C =29.30 [ps/chl™, 7 2 [ ]
* 5(‘) —t— 1(?:0 * — — g‘ﬁ — — 10‘0 * O 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6,10,0)

AT nui g roe+04 /25
P, po 4205+ 0.0
pl -35.73+ 0.00

TP delay [ns]

TVC(cbch) (6.10,4

T rnuLyz/e+ud | 25
Foe pO 4214+ 0.0
pl -36.82:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

1 nuiL poge+u4 / 25
= po 4219+ 0.0
pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (6.10,12)

Tz 1ule+u4 /25
= po 4228+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

AT 1nuiLbzie+ud | 25
- po 4207+ 0.0
pl -36.19 + 0.00

TP delay [ns]

TVC(c, bch) (6,105

-1 nui B4ye+u4 [ 25
- pO 4218+ 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10

-1 naig.guze+ud 25
= po 4222+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (610,13

~ 1 nuiz.usbe+ud / 25
pO 4228+ 0.0
pl -35.45+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

A7 1nui r40e+04 /25
Freee, po 4219+ 0.0
- pl -36.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.10,6

1000

T il bze+ud [ 25
- pO 4227+ 0.0
[ pl -36.89+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 10

1000

0

©1nuz 3yge+u4 | 25
- po 4249+ 0.0
- pl -37.02+ 0.00

TP delay [ns]

TVC(cbch) (6.10,14

T rnuiLg4ze+04 [ 25
- pD 4230+ 0.0
L pl -35.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,10,3)

A~ 1 nuiLbY4e+U4 [ 25
= po 4213+ 0.0
pl -37.1+ 0.0

TP delay [ns]

TVC(c, bch) (6,10, 7

-1 nui ygle+u4d / 25
- pO 4231% 0.0
p1 -36.43+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (6, 10 1

T nuz.yrYe+ud [ 25
- po 4262+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVC(cbch) (6,10,15

T nuiz 1sse+ud [ 25
= po 4238+ 0.0
p1 -35.69+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

A rnun g,

' vle+ud / 25
4223+ 0.0
p1 -35.28+ 0.00

TVC(c,b ch) (6,11,

4000 f=, PO
pl

1)

4221+ 0.0
-34.52+ 0.00

- rnuiLyase+ud [ 25

3000 |-

2000

oo C = 28.97 [ps/ch]

L
50

1
100

TP delay [ns]

TVC(cbch) (6, 11 4

TP delay [ns]

TVC(c,b Ch) (6, 11 5

4000

- iU Z13e+u4 [ 25
e po 4181+ 0.0
pl -36.23 0.00

TP delay [ns]

TVC(cbch) (6, 11 8

== pD

p1

-1 nu 53ze+04 [ 25
4229+ 0.0
-35.91+ 0.00

TP delay [ns]

TVC(c,b Ch) (6,11, 12

A1 nun szse+u4 25
e, po 4251 0.0
p1 -34.97 + 0.00

TP delay [ns]

-1 nu zgze+u4 [ 25
e, pO 4197+ 0.0
pL -37.25+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (6, 11

4000

~ 1 nuianae+04 [ 25
4217+ 0.0
-34.5+ 0.0

3000

2000

100 C = 28.99 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (6, 11 13

4000 e, PO

p1

T inai rzae+ud [ 25
4251+ 0.0
-34.75+ 0.00

3000

2000 [~

100 C = 28.78 [ps/ch]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,11, 2)

e po

X~ 1 nuzuLie+ud [ 25
4238+ 0.0
p1 -35.82+ 0.00

TP delay [ns]

TVC(chh) (6, 11 6

1 nuiL469e+04 / 25
pO 4205+ 0.0
pl -36.99 + 0.00

TP delay

TVC(e,b,eh)=(6, 11, 10

- b

[ns]

-/ g Uzoe+04 | 25
4249+ 0.0
pl -35.44 £ 0.00

TP delay

TVC(c,b Ch) (6,11, 14

[ns]

A~ 1 nui sple+u4 / 25
-, po 4266+ 0.0
[ pl -35.78 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,3)

- po

A~ nuigs22e+U04 [ 25
4245+ 0.0
pL -36.77+ 0.00

TP delay [ns]

TVC(CbCh) (6, 11 7

S 18e+u4 /25
= po 4212+ 0.0
p1 -35.97 + 0.00

50 160
TP delay

TVC(Deh)=(6, 11, 11

= pO

[ns]

T nuz 3 /oe+u4 [ 25
4252+ 0.0
pl -35.67 + 0.00

TP delay

TVC(c,b Ch) (6, 11 15

[ns]

)

Tinan 1 p4e+ud [ 25
4266+ 0.0
-35.46 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

T syoe+u4 [ 25
Frcea pO 4181+ 0.0
p1 -34.53+ 0.00

TP delay [ns]

TVC(cbch) (6.12,4

- 1 i buBe+u4 / 25
Fraese. pO 4231+ 0.0
p1 -37.73+ 0.00

50 100
TP delay [ns]

TVC(cbch) (6, 12 8

1 nuiL4y3se+u4 / 25
= po 4196+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

~ i bs4e+U4 / 25
e po 4226+ 0.0
pl -34.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,12,1)

AT rnunLzzie+ud [ 25
e po 4192+ 0.0
pl -33.68 + 0.00

[ C =29.69 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (6,125

- nu uze+u4d [ 25
Fomes, po 4226+ 0.0
pL -36.93+ 0.00

TP delay [ns]

TVC(ebeh)=(6, 12,9

T nun 31Ye+ud [ 25
= po 4222+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (612,13

Tinun g boe+ud [ 25
pO 4222+ 0.0
pl -34.91+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

A7 1 nui4u0e+04 / 25
_l' po 4189+ 0.0
- pl -33.71+ 0.00

- C = 20.67 [ps/ch™. 1

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

Srnuanl/re+u4 [ 25
F po 4220+ 0.0
[ pl -36.92+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

T sz(e+04 [ 25
- po 4240+ 0.0
L pl -34.87 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 14

T r3e+u4 [ 25
__ pD 4232+ 0.0
L pl -34.37 + 0.00

- C = 29.09 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

AT nun Lose+ud [ 25
po 4215+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(c, bch) (6,127

-1 nui gobe+u4 / 25
E pO 4258+ 0.0
pL -38.31% 0.00

1=
50 100
TP delay [ns]

TVC(eh.ch)=(6, 12, 11

~ 1 nuiz.u4ze+u4 [ 25
- po 4262+ 0.0
pl -36.08 + 0.00

TP delay [ns]

TVC(cbch) (612,15

T nui poze+ud [ 25
= po 4210+ 0.0
-34.38 + 0.00

[ C=29.09 [ps/ch]

PR PR S S |
50 100

TP delay [ns]



TVC(c,b Ch) (6, 13 0) TVC(c,b Ch) (6,13,1) TVC(c,b,ch)=(6, 13, 2) TVC(c,b Ch) (6,13,3)
- shve U4 ] 25 A 1L adise+Ud | 25 T Ko 135725 A 1 o5se+Ud ] 25
4000, pO 4198+ 0.0 4000, po 4207+ 0.0 4000 po 4207 0.0 4000, po 4211£ 0.0
Pl -36.87+0.00 pl  -36.85: 0.00 L Pl -36.42% 0.00 Pl -36.45: 0.00

3000

-1 3000 = 3000 = 3000 N

2000 - 2000 -1 2000 =1 2000

1000 N 1000 I 1000 =1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,134 TVC(c, bch) (6,135 TVC(cbch) (6.13,6 TVC(c, bch) (6,137

2000 E Snan g, z?tseﬂm 125 4000 - rnur g bi)he+l)4/25 2000 =g, bzoema 125 4000 =1 nur | u242+04/25
[ouse, pO 4160 0.0 Flonse pO 4163+ 0.0 e, pO 4167+ 0.0 F pO 4192+ 0.0
pl -35.57 + 0.00 pL -36.01+ 0.00 3 pl -35.53:+ 0.00 pL -35.78 + 0.00
3000~ — 3000 - B 3000~ - 3000 | E
2000 - - 2000 B 2000 ] 2000 - —
e ] wor C =27.77 [ps/ch ] w0 C = 28.15 [ps/ch 7 ool C ]
1 1 ! 1 1 - E 1 1 = £ 1 1 =
50 100 50 00 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,oh)=(6, 13,8) TVC(eb,oh)=(6, 13,9) TVC(eb,ch)=(6, 13, 10) TVC(e.bch)=(6, 13, 11)
Tnun z.8oe+04 /25 T rnuyb11e+u4 [ 25 T i, r4ze+04 | 25 -1 yoge+u4 / 25
A000R., pO 4197+ 0.0 4000 pO 4231+ 0.0 4000 [, DO 4215+ 0.0 4000, p0 42331 0.0
pl -34.87+ 0.00 pL -35.36+ 0.00 3 pl -34.02:+ 0.00 pL -36.26+ 0.00

] 3000

- 3000 T

3000 - 3000 |~

4 2000 2000

2000 2000~

1000
1000 1000

wol ¢ = 29.39 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b ch) (6.13,12) TVC(c,b ch) (6.13,13) TVC(c,b ch) (6.13,14) TVC(c,b ch) (6,13,15)
T r13e+u4 / 25 T nuibyse+ud / 25 Ty re+ud /25 T nui ozve+ud [ 25
4000, pO 4207 00 4000 R, pO 4180 0.0 4000, PD 4199+ 0.0 4000, pO 4199+ 0.0
pl -35.21+ 0.00 -34.32+ 0.00 I pl -34.9+ 0.0 pl -35.35+ 0.00

3000

-1 3000 - 3000 - 3000 .

2000 T 2000 |- - 2000 ] 2000

1000 b W C = 29.14 [ps/ch] . 1000: —: 1000 E
'5(')""10'0-' ""E‘d""m‘o-'

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 14 0)

T L oEoe+U4 [ 25
.. pO 4198+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (6,144

- rnunL189e+04 / 25
- pO 4201% 0.0
354+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (6, 14 8

[ C =29.49 [ps/ch]

rnun o 1ye+u4 /25
= po 4179+ 0.0
pl -33.91+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,14, 12

~rnuiL4yse+u4 / 25
== po 4208+ 0.0
pl -35.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,14,1)

A1 nuiLa8ye+ud [ 25
P, po 4199+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(c, bch) (6,145

- nun 3z2ze+04 [ 25
- pO 4206+ 0.0
pL -36.57+ 0.00

TP delay [ns]

TVC(c, bch) (6, 14 9

[ C =29.29 [ps/ch]

T inun 4.00e+04 /25
= po 4202+ 0.0
p1 -34.14 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (614,13

~ 1 nuiLasoe+ud / 25
- pO 4191+ 0.0
pl -35.95+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

]

:

1000;- C =29.33 [ps/ch] - ‘
L - s

4000

3000
2000

1000

TVC(CbCh) (6,14,2)

TP delay [ns]

TVC(cbch) (6.14,6

1000

A1 L ose+ud [ 25
[, po 4202+ 0.0
L pl -35.86 + 0.00

3000

-1 nun318e+04 / 25
- pO 4219+ 0.0
[ pl -36.74+ 0.00

TP delay [ns]

TVC(cbch) (6, 14 10

© L, rgve+u4 | 25
= po 4209+ 0.0
- pl -34.1+ 0.0

TP delay [ns]

TVC(cbch) (6. 14,14

T bsse+u4 [ 25
= pD 4213+ 0.0
L p1 -36.42 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

AT rnuiLgyze+ud [ 25
- po 4221+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c, bch) (6,14,7

- nun1.48e+04 [ 25
- pO 4238+ 0.0
pL -36.99+ 0.00

50 100
TP delay [ns]

TVC(ehch)=(6, 14, 11

T naizsae+u4 [ 25
= po 4215+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (614,15

T nai suve+ud / 25
- pO 4202+ 0.0
p1 -35.72+ 0.00

TP delay [ns]



TVC(CbCh) (6, 15 0)

4000

3000

2000

1000

T rnuLgsse+ud [ 25
- pO 4147+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (6,154

4000

3000

2000

1000

-1 zize+04 | 25
o pO 4169+ 0.0
pl -34.48+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 15 8

4000

3000

2000

1000

~rnunLziie+ud / 25
. PD 4209+ 0.0
-33.99+ 0.00

[ C =29.42 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6,15, 12

4000

3000

2000

1000

T4 e+u4 /25
e po 4285+ 0.0
pl -37.24+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6,15,1)

K™ 1L go1e+ud [ 25
e po 4149+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(cbch) (6,155

-1 nui 145e+04 / 25
P pO 4182+ 0.0
-34.03+ 0.00

[ C =29.39 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 15

~ 1 nuz.y3ae+ud [ 25
b po 4227+ 0.0
p1 -34.54 + 0.00

[ C =28.96 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (6.15,13

-1 nuiLavoe+ud | 25
be. pO 4278+ 0.0
pl -36.88 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,15,2)

AT 1nun ss1e+04 /25
e po 4155+ 0.0
o pl -35.28 + 0.00

3000

TP delay [ns]

TVC(cbch) (6.15,6

© 1 nuiL186e+04 / 25
Foe pO 4192+ 00
[ Pl 3494+ 000

- C = 28.62 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (6, 15 10

1 nuiLbzbe+u4 | 25
- po 4250+ 0.0
[ p1 -34.7+ 0.0

- C = 28.82 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (615,14

~1nuiLa45e+04 / 25
e pD 4276+ 0.0
L -36.31+ 0.00

PR IR SRR |
50 100

TP delay [ns]

TVC(Cbch) (6,15,3)

4000 po

AT rnuaiLsyre+ud [ 25
4173+ 0.0
pl -36.06 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c, bch) (6,15, 7

4000 &

pl

S i 1b/e+04 / 25
pO 4197 0.0
-33.84+ 0.00

3000

2000 -

10 C = 29.55 [ps/ch]

50 100

TP delay [ns]

TVC(cbch) (6, 15 1

4000 fum po

pl

T nuizz3e+u4 [ 25
4240+ 0.0
-34.07 + 0.00

3000 -

2000 =

1o00F C = 29.35 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6,15,15

4000 pO

T nui vbze+ud [ 25
4284+ 0.0
p1 -36.84 + 0.00

-
3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0)

T Lsoe+ud /25
P s, pO 4192+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (70,4

-1 1bye+ud | 25
P pO 4174+ 0.0
p1 -34.38+ 0.00

TP delay [ns]

TVC(cbch) (7 0,8

T nu4rge+u4 [ 25
= pO 4207+ 0.0
p1 -35.61+ 0.00

TP delay [ns]

TVC(cbch) (7,0,12

T g szoe+u4 / 25
= po 4236+ 0.0
pl -37.77 + 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1

AT 1L Bsye+ud [ 25
P s po 4193+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,5

- L 88 e+u4 [ 25
o, DU 4190+ 0.0
pl -35.12:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

T nun b.obe+u4 [ 25
= po 4209+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,13

T 1 nuiz.obse+ud / 25
= pO 4230+ 0.0
pl -37.24+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,0,2)

TP delay [ns]

TVC(cbch) (7,0,6

- rnunLg1ze+u4 [ 25
F po 4183+ 0.0
[ pl -34.53+ 0.00

A7 1 nui gsse+ud / 25
Fouee po 4203+ 0.0
[ p1 -36.46 + 0.00

3000

EC = 28.96 [ps/ch]y, -

50 10‘0
TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

1 nuig,pobe+u4 / 25
- po 4248+ 0.0
L pl -36.71+ 0.00

TP delay [ns]

TVC(cbch) (7,0,14

T g.o0e+u4 /25
3 pD 4236+ 0.0
- pl -38.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3

AT rnuiLyaie+ud [ 25
P s po 4195+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,7

- nuiLyrye+ud / 25
- pO 4208+ 0.0
p1 -34.97+ 0.00

TP delay [ns]

TVC(eh.eh)=(7,0, 11

Tonan zlle+u4/25
= pO 4243+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

T inuzbzie+ud [ 25
= pO 4244+ 0.0
p1 -37.38+ 0.00

TP delay [ns]



TVC(eb.e=(7,1,0) TVe(Eh.oh=(7,1,1) TVC(eb (T, 1,2) TVe(EDeh=(T,1,3)
X~ Lr1e+04 ] 25 X~ 1 Guae+U4 [ 25 X~ 1 LB r5e+04 25 A, fsse+ud 25

4000, po 4174 0.0 000E,, po 4188+ 0.0 4000, po 4190+ 0.0 4000, po 4220+ 0.0
Pl -3569+ 0.00 Pl -36.53% 0.00 [ Pl -36.66+ 0.00 Pl -36.29% 0.00

- 3000

3000 -1 3000

-1 3000

2000 - 2000 -1 2000 N 2000

1000 4 1000 - 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7.1,4 TVC(cbch) (7,1,5 TVC(cbch) (7,1,6 TVC(cbch) (7,1,7

- i b1oe+u4 / 25 T 1346404 [ 25 =i bube+u4 / 25 -1 nui bge+u4 / 25
4000 pO 4220+ 0.0 4000, DU 4215+ 0.0 4000 fm, pO 4229+ 0.0 4000 fe pO 4236+ 0.0
Pl -36.05: 0.00 Pl 3549 0.00 L PL_ -35.75%0.00 Pl 3599+ 0.00

3000 - 3000 - 3000 - 3000 [ E

2000~ b 2000 E 2000 - - 2000~ N

1000 — ] [~ _ ] 1000 -

c 1000 wol C = 27.97 [ps/ch ] c
- F - E "
1 1 - 1 1 - 1 T-
EY 00 50 00 EY 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebeh)=(7, 1,8 TVCEebeh)=(7, 1, TVC(ebeh)=(7, 1, 10 TVC(eb.eh=(7, 1,

11
LR 2¢1e+04 125 AL s)/ae+u4/25 RALA yz)oe+04/25 T o, m)be+u4/25
4000, pO 4224+ 0.0 4000 e, pO 4234 0.0 4000 DO 4247+ 0.0 4000 p0 4260+ 0.0
Pl 35531 0.00 -34.6 % 0.0 L Pl -33.37:0.00 -34.75.% 0.00
3000 B 3000 E 3000} ] 3000 B
2000 4 2000 E 2000 ] 2000 1
1000 1 ool C = 28.90 [ps/ch]™, 7 wof- © = 29.96 [ps/ch] ™. wol C = 28.77 [ps/ch]™, 1
1 1 - [ 1 1 - 1 1 "
50 00 0 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(711 ) TVC(cbch)(7113) TVC(cbch)(711 ) TVC(cbch)(7115)
©rnuiLgyse+u4 / 25 1 nuiz.yyve+ud / 25 Trnuizur1e+u4 /25 Tonaigr1e+u4 /25
4000 pO 4223+ 0.0 4000 pO 4220+ 0.0 4000 PD 4224+ 0.0 4000 o, pO 4226+ 0.0
pl -35.25+ 0.00 pl -35.48+ 0.00 F pl -35.87 + 0.00 pl -35.32+ 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 E 2000 E 2000 - 2000

1000 -1 1000

& 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

A7 1 nuia45e+04 /25
po 4204+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (72,4

- 1z, 0ape+04 | 25
s, pO 4185+ 0.0
p1 -35.34 + 0.00

e 4
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8

©1nuiz,0yze+u4 | 25
pD 4231+ 0.0
p1 -37.54+ 0.00

TP delay [ns]

TVC(cbch) (7,212

1L 5Ee+U4 / 25
pO 4213+ 0.0
pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,21

AT 1nuiLgo/e+u4 [ 25
Foase po 4189+ 0.0
pl -36.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

-1 nu 103e+u4 / 25
o pO 4204+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

-1 nuis obye+ud / 25
= po 4235+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,13

T inai sz1e+ud [ 25
- pO 4210+ 0.0
pl -35.87+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

K™ 1nui419e+04 /25
o po 4197+ 0.0
L pl -36.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,2,6

- 1L 498e+04 [ 25
e pO 4186+ 0.0
[ pl -34.58+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

T nuzzose+ud | 25
= po 4252+ 0.0
- pl -36.86 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

~1nuizu4se+ud | 25
pD 4223+ 0.0
pl -35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3

AT rnuiL4pie+ud [ 25
e, po 4211+ 0.0
pl -36.14+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

- 1nug 1z24e+04 / 25
- pO 4209+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T, iUie+U4/25
= po 4258+ 0.0
pl -37.69 + 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

Tinuizzsze+ud [ 25
- po 4228+ 0.0
p1 -35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

A~ 1nuiLouse+ud /25
P . po 4184+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (7.3,4

- i 34ze+04 / 25
[, PO 4176+ 0.0
pl -35.64 + 0.00

TP delay [ns]

TVC(cbch) (7 3,8

T L, r3ze+04 [ 25
po 4193+ 0.0
pl -36.23 + 0.00

TP delay [ns]

TVC(cbch) (7,312

T i pzze+u4 [ 25
pO 4213+ 0.0
pl -36.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

AT 1L rsye+ud [ 25
s po 4193+ 0.0
pl -37.28 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

=1 bo3e+us / 25
o, DU 4187+ 0.0
pl -36.38 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

~ 1 nug 38Ye+ud / 25
= po 4212+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,13

T nuiLploe+ud / 25
— 4204+ 0.0
-36.31+ 0.00

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

AT 1nun rsse+u4 /25
_=_ po 4200+ 0.0
o pl -36.35+ 0.00

3000

TP delay [ns]

TVC(cbch) (73,6

1000

- 1L 6aze+04 | 25
F pO 4191+ 0.0
L pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

©1nuz. Zobe+ud | 25
o=, po 4230+ 0.0
5 pl -37.14 + 0.00

TP delay [ns]

TVC(cbch) (7,314

~ i bo3e+U4 [ 25
= pD 4209+ 0.0
L p1 -36.1+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3

AT 1 nuiL, rs4e+U4 [ 25
P e po 4200+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

S rnan 1bre+u4 | 25
- pO 4195+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

T, ///e+u4/25
= po 4238+ 0.0
pl -36.79 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

T nai ruye+ud / 25
po 4221+ 0.0
p1 -35.98 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A1 g,

249e+U4 | 25
4187+ 0.0
-35.98+ 0.00

TP delay [ns]

TVC(cbch) (7,4,4

38ve+u4 | 25
4210+ 0.0
-35.79+ 0.00

— po, o,
pl
- C -1
% T
TP delay [ns]
TVC(c,b ch) (7, 4 8

pO
p1

.YzZobe+u4 | 25
4211+ 0.0
-34.95+ 0.00

1
100

TP delay [ns]

TVC(cbch) (7,4,12

Tz sole+u4 / 25
4215+ 0.0
-36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1)

P PO

p1

AL 9ae+U4 ] 25
4183+ 0.0
-35.23+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

- nun baze+u4d [ 25
4212+ 0.0
-35.38 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

e, po

pl

-1 nu.ygoe+ud | 25
4231% 0.0
-35.12+ 0.00

TP delay [ns]

TVC(C, bch) (7.4,13

~ 1 nuiz 1o0e+ud / 25
4222+ 0.0
-35.47+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (7.4,2)

[oeee, po

pl

A7 1nuig zzoe+V4 /25
4190+ 0.0
-35.99 + 0.00

TP delay [ns]

TVC(cbch) (7.4,6

pO
p1

- i bble+ud / 25
4223+ 0.0
-36.77 + 0.00

TP delay [ns]

TVC(ebeh)=(7, 4,10

T z.84e+04 /25
po 4247+ 0.0
p1 -34.83+ 0.

-34.83 + 0.00

TP delay [ns]

TVC(cbch) (7.4,14

Trnuigzzz1e+04 /25
4211+ 0.0
pl -35.84 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.4,3)

e po

pl

AT 1 nuiLyose+ud [ 25
4195+ 0.0
-35.67 + 0.00

TVC(c,b ch) (7 4,7

pO
pl

1
100

TP delay [ns]

- nun 1ype+ud [ 25
4231+ 0.0
-36.96 + 0.00

100

TP delay [ns]

TVC(c,b ch) (7, 4

= pO

1)
" nui rgse+u4 / 25
4248+ 0.0
-35.17 + 0.00

pl

TP delay [ns]

TVC(C, bch) (7.4,15

T nuiz.agoe+u4 [ 25
4233+ 0.0
-37.11+ 0.00

100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,0

AT 1nuiazse+04 /25
- po 4186+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(cbch) (7,54

- 1L 50ye+04 / 25
e, pO 4187+ 0.0
p1 -34.57+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 5,8

©rnuiLgole+u4 / 25
= pO 4204+ 0.0
pl -36.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,5,12

T ry1e+u4 / 25
= po 4237+ 0.0
p1 -36.6+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,1)

AT rnuiLslie+ud /25
- po 4192+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(c,b ch) (7 55

-1 nui bz4e+04 [ 25
) DO 4208+ 0.0
pl -35.61+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7 59

-1 nu. yuse+ud / 25
= po 4217+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(C, bch) (7.5,13

T inai ruze+ud [ 25
= pO 4237+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,5,2)

A~ 1 nuiL oooe+u4 / 25
P po 4211+ 0.0
o pl -35.91+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,56

- C = 28.54 [ps/ch

-1 nurg boze+u4 [ 25
po 4204+ 0.0
pl -35.04+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 5 10

1000

0

a2 gu4e+u4 | 25
. po 4235+ 0.0
- pl -36.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,5,14

T r3ve+ud [ 25
4241+ 0.0
-37.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,5,3

AT 1L osse+ud [ 25
- po 4217+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (7 57

- nun b3ze+u4 / 25
- pO 4215+ 0.0
pL -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 5

EEALEVX uU::e+u4/25
4240+ 0.0
-36.3 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (7.5,15

T nai ruae+u4 [ 25
= po 4225+ 0.0
p1 -35.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

0P C=29.35 [psich]™, 1
0 5;) 10'0 -

4000

3000

2000

1000

TVC(cbch) (7,6,0

A~ 1 nui asse+u4 [ 25
e po 4225+ 0.0
p1 -36.77+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

- i goge+ud [ 25
Faase po 4205+ 0.0
pl -35.44 + 0.00

50 5
TP delay [ns]

TVC(cbch) (7 6,8

T rnuzpole+ud [ 25
= po 4187+ 0.0
p1 -34.07 + 0.00

TP delay [ns]

TVC(cbch) (7,6,12

- ruiLuzve+Us / 25
= po 4200+ 0.0
pl -32.51+ 0.00

[ C =30.76 [ps/ch] ™= ]

P BN |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (76,1

K™ 1 nuiL4rpoe+ud [ 25
P oaee po 4228+ 0.0
p1 -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,5

-1 nuiL g /e+u4 / 25
[Fomes, pO 4223+ 0.0
pL -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

- e Sage+ud | 25
e, pO 4221 0.0
pL -35.18+ 0.00

TP delay [ns]

TVC(c,b Ch) (7, 6 13

T nuip43e+u4 / 25
= pO 4234+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000

2000

TVC(cbch) (7,6,2)

X~ 1L 510e+04 / 25
P po 4222+ 0.0
[ p1 -35.98+ 0.00

3000

TP delay [ns]

TVC(cbch) (76,6

- rnuz 1bpe+04 / 25
- pO 4236+ 0.0
[ p1 -36.27 + 0.00

TP delay [ns]

TVC(eb,oh)=(7, 6, 10

-1 nug, z06e+04 / 25
3 4246+ 0.0
L -35.9 + 0.0

TP delay [ns]

TVC(cbch) (7.6,14

1000

T, rz4e+04 [ 25
pD 4247+ 0.0
-36.63+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.6,3)

x-1nur 1oe+ud ] 25
— po 4238+ 0.0
p1 -36.56+ 0.00

TP delay [ns]

TVC(c,b ch) (7 6,7

- nuiz411e+u4 / 25
- pO 4250+ 0.0
p1 -36.68:+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (7, 6

AL s/ue+u4/25
- pO 4234+ 0.0
pl -35.07 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 6 15

- rnuzulve+ud [ 25
e pO 4239+ 0.0
p1 -35.68 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0

AT 1nunasze+04 /25
o, po 4204+ 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(cbch) (77,4

- i 331e+04 / 25
Foe pO 4202+ 0.0
p1 -34.913 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

T 2.3e+04 /25
= po 4215+ 0.0
pl -35.34+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

~rnuizus4e+ud | 25
= po 4222+ 0.0
pl -37.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,1)

- i soae+ud [ 25
e pO 4218+ 0.0
pL -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

=1 nui 488e+04 [ 25
Fne pO 4213+ 0.0
p1 -35.64 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 7

T inun, 713e+04 / 25
= pO 4231+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,13

Tinuzyrie+ud /25
= pO 4220+ 0.0
pl -37.78 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,7,2)

K™ 1 nuiooae+u4 / 25
P, po 4216+ 0.0
- pl -35.12+ 0.00

- C = 28.47 [psich

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

-1 i bsge+u4 / 25
pO 4231 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

0

© 1 nuz 150e+04 / 25
=, po 4238+ 0.0
L pl -36.41+ 0.00

TP delay [ns]

TVC(cbch) (7,7,14

~ 1z zgye+ud | 25
- pD 4218+ 0.0
L p1 -36.82+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

- PO

pl

AT 1 nuiLozye+ud [ 25
4222+ 0.0
-35.4 + 0.0

TP delay [ns]

TVC(c,b ch) (7 7,7

RIS

feme pO
pl

7obe+u4 | 25
4234+ 0.0
-35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

= pO
pl

1)
-1 nuiL oZoe+ud / 25
4249+ 0.0
-36.01+ 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

T nui sgve+ud [ 25
4220+ 0.0
-37.25+ 0.00

TP delay [ns]



TVC(cbch)(780) TVC(cbch)(781) TVC(cbch)(782) TVC(cbch)(783)
AT 1L 0e+u4 / 25 A~ 1w yoobe+ud | 25 A™ 11w yoze+ud [ 25 “rnuanpyle+ud [ 25

4000 o PO 4161+ 0.0 4000 Fomes po 4176+ 0.0 4000 .=— po 4176+ 0.0 4000 o po 4176+ 0.0
pl -36.08 + 0.00 pl -35.61+ 0.00 : pl -35.45 i_0.00 pl -34.83+ 0.00

3000

B 3000 - 3000 - 3000 [ B

2000 2000 - 2000 1 2000 |-

1000 1000 = 1000

7 woo- C = 28.71 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,84 TVC(cbch) (7,85 TVC(cbch) (7.8,6 TVC(c, bch) (7,87

T nuiL r81e+04 / 25 ~ 1 nurL, r54e+04 / 25 T nuiL r53e+04 [ 25 - 1nuaz,gyye+ud [ 25
4000 4178+ 00 000 R, pO 4185 0.0 4000, pO 4191+ 00 4000, pO 4203+ 00
-35.71+ 0.00 Pl -36.09+ 000 t PL_ 3614+ 000 Pl 3662+ 000
3000 ] 3000 g 3000 n 3000 ]
2000 4 2000 — 2000 n 2000 ]
1000 4 1000 n Wl C = 27.67 [ps/ch ] 1000 - ]
- [ = ] K
- - -
. - -
1 1 1 1 1 1
0 00 0 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7 8,8 TVC(cbch) (7 8,9 TVC(cbch) (7, 8 10 TVC(cbch) (7, 8

4000 T rnuiguale+u4 [ 25 T nu.z4/e+04 /25 4000 ©nuigusse+ud / 25 4000 T nug uuze+u4/25
[, PD 4194+ 0.0 4000 DO 4215+ 0.0 - DO 4201+ 0.0 - pO 4203+ 0.0
pl -35.19+ 0.00 pl -35.92 + 0.00 r pl -33.59+ 0.00 pl -34.97 + 0.00

- 3000

3000 ] 3000 |~ - 3000 1

2000 2000 2000 2000

1000 1000 1000

ol © = 29.77 [ps/ch]

o 1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7,812 TVC(C, bch) (7.8,13 TVC(cbch) (7.8 14 TVC(C, bch) (7.8,15

~ 1 nuiLyoye+ud / 25 T ysse+u4 [ 25 TnuiLsy/e+ud [ 25 -1 syve+u4 [ 25
4000 e PO 4206+ 0.0 4000 pO 4213+ 0.0 4000 PD 4225+ 0.0 4000 g, pO 4224+ 0.0
pl -37.36 + 0.00 pl -38.15+ 0.00 I pl -38.37 + 0.00 pl -37.77+ 0.00

3000

-1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

N PR Y
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,0

K™ 1nuiLoyre+ud /25
- po 4176+ 0.0
pl -39.13+ 0.00

TP delay [ns]

TVC(cbch) (79,4

[ C =26.96 [ps/c ]

-1 nuig bYse+ud / 25
e, pO 4183+ 0.0
p1 -37.1% 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 9,8

T rnuiz.zu1e+u4 [ 25
= po 4188+ 0.0
pl -34.71+ 0.00

TP delay [ns]

TVC(cbch) (7,9,12

©rnuiLgo4e+u4 / 25
= po 4200+ 0.0
pl -35.03+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,91

AT rmuLo/ie+ud [ 25
- po 4176+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

=1 nui bb3e+ud / 25
pO 4192+ 0.0
pL -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,9

~ 1 nuiL Us3e+us / 25
= po 4226+ 0.0
pl -35.59 + 0.00

TP delay [ns]

TVC(C, bch) (7,9,13

T nuiz.uloe+ud / 25
== pO 4200+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (7,9,2)

A7 1 nuizyae+04 /25
- po 4192+ 0.0
L pl -37.49+ 0.00

3000

TP delay [ns]

TVC(cbch) (79,6

- i bzoe+ud / 25
pO 4195+ 0.0
pl -36.74+ 0.00

TP delay [ns]

TVC(cbch) (7, 9 10

Tz rge+u4 /25
= po 4219+ 0.0
- pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (7,914

T L ysse+u4 / 25
-, pD 4200+ 0.0
L p1 -35.74+ 0.00

TP delay [ns]

TVC(cbch) (7,9,3)

4000 &

3000

2000 -

w00 C = 26.74 [ps/c ]

AT 1L 4soe+ud [ 25
po 4185+ 0.0
pl -37.4+0.0

TVC(c,b ch) (7 9,7

1
100

TP delay [ns]

-1 nu.Uvye+u4 / 25
pO 4200+ 0.0
pL -36.96+ 0.00

4000 G
3000 7
2000 7
1000 C 7]
0 5(‘) 1(;-0--
TP delay [ns]

TVC(c,b ch) (7, 9

4000

3000

2000

1000

T g ‘JbE+U4/25
4232+ 0.0
-35.8+ 0.0

1
100

TP delay [ns]

TVC(C, bch) (7,9,15

4000 k=,

3000

2000

1000

T nuiz soye+ud [ 25
po 4232+ 0.0
p1 -37.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,.10,0)

Tz sure+ud [ 25
PO 4151+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (7.10,4

- 1L buze+ud [ 25
pO 4201+ 0.0
pl -36.52+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7, 10 8

1 nuz.gs4e+04 | 25
- PD 4210+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (7.10,12

T i, r40e+04 / 25
- PO 4226+ 0.0
pl -36.1+ 0.0

TP delay [ns]

4000
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